
MATHS

BOOKS - ARIHANT MATHS (HINGLISH)

INTEGRALS

EXAMPLES

1. Write the anti
derivative of 
.

Watch Video Solution

(3√x + )
1

√x

2. Evaluate: 

Watch Video Solution

∫cos − 1(sinx) dx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EcLDIwbgs0Ux
https://dl.doubtnut.com/l/_ffUe8HpkJ03z
https://dl.doubtnut.com/l/_7U8SD2qJR9Kh


3. Integrate : 

Watch Video Solution

∫ dx.
1 − sinx

cos2 x

4. Evaluate: 

Watch Video Solution

∫  dx
x3 − 1

x2

5. Evaluate : 

Watch Video Solution

∫ dx.
sin2 x

1 + cos x

6. Evaluate the following integrals: 

Watch Video Solution

∫ dx
cos 2x + 2 sin2 x

cos2 x

https://dl.doubtnut.com/l/_7U8SD2qJR9Kh
https://dl.doubtnut.com/l/_qgRARJXeFR9R
https://dl.doubtnut.com/l/_4Vapa6qBrZD1
https://dl.doubtnut.com/l/_82b5oFvIl8jQ
https://dl.doubtnut.com/l/_qQ6po9Xp5sZR


7. Evaluate the following integrals: 

Watch Video Solution

∫ dx
sin6 x + cos6 x

sin2 x cos2 x

8. Evaluate: 

 


(ii) 

Watch Video Solution

∫√1 + cos 2xdx

∫√1 + sin 2xdx.

9. Show that 

 if: 

 when .

Watch Video Solution

f(x) = tanx − cot x − x + + 1
π

4

f' (x) = sec2 x + cos ec2x − 1 and f(x) = 1, x =
π

4

https://dl.doubtnut.com/l/_qQ6po9Xp5sZR
https://dl.doubtnut.com/l/_T95rgFuMr8ty
https://dl.doubtnut.com/l/_dpaXnQreWYst
https://dl.doubtnut.com/l/_i17gr7SfJh8b


10. Integrate the following w.r.t x: 

Watch Video Solution

x2 + 3x + 1

√1 − x2

11. Integrate: 

Watch Video Solution

∫ dx
x3

√1 − x8

12. Find 

Watch Video Solution

∫ dx
√x

√a3 − x3

13. 

Watch Video Solution

∫ dx
sec2 x

√tan2 x + 4

https://dl.doubtnut.com/l/_i17gr7SfJh8b
https://dl.doubtnut.com/l/_pNKkduZdAb0p
https://dl.doubtnut.com/l/_7bTENXqe9Syt
https://dl.doubtnut.com/l/_ZGtpxmDXtPxK
https://dl.doubtnut.com/l/_Q6YioNC3Gh71


14. 

Watch Video Solution

∫ dx
(x2 + sin2 x)sec2 x

1 + x2

15. Find 

Watch Video Solution

∫
sin 2x cos 2xdx

√9 − cos4(2x)

16. 

Watch Video Solution

∫  
dx

a2 sin2 x + b2 cos2 x

17. Integrate: 

Watch Video Solution

∫
dx

2 + cos x

https://dl.doubtnut.com/l/_Q6YioNC3Gh71
https://dl.doubtnut.com/l/_oUMRkpEzyAHQ
https://dl.doubtnut.com/l/_CJXPmxQAEa8c
https://dl.doubtnut.com/l/_NgNs9vMhu0e0


18. Integrate : 

Watch Video Solution

∫ex sinxdx.

19. 

Watch Video Solution

∫eax cos(bx + c)dx

20. Integrate: 

Watch Video Solution

∫ex sin2 xdx.

21. Evaluate: 

Watch Video Solution

∫ dx
etan − 1 x

1 + x2

https://dl.doubtnut.com/l/_L4zvL2MhQ9Ri
https://dl.doubtnut.com/l/_66HGMFywVUSb
https://dl.doubtnut.com/l/_OXVUch0iQIIa
https://dl.doubtnut.com/l/_t70dcK9G9AVk


22. Evaluate : 

Watch Video Solution

∫ dx.
1

x2 − 16

23. Evaluate: 

Watch Video Solution

∫
dx

x2 − 6x + 13

24. Evaluate: 

Watch Video Solution

∫  dx
2x − 3

x2 + 3x − 18

25. Evaluate 

Watch Video Solution

∫ − 115x4√x5 + 1dx

https://dl.doubtnut.com/l/_JdtkKCeoStXH
https://dl.doubtnut.com/l/_mjpRqxz13vet
https://dl.doubtnut.com/l/_EgBqmQZ9yyFI
https://dl.doubtnut.com/l/_osGEFGyaZRpC


26. 

Watch Video Solution

∫
dx

5 + 4 cos x

27. Evaluate : 

Watch Video Solution

∫ π

0

4

sinx + cos x

16 + 9 sin 2x

28. Evaluate
the following integrals:


Watch Video Solution

∫
a

0

sin− 1 √ dx
x

a + x

29. Evaluate the following : 

Watch Video Solution

∫
11 / √2

0
dx.

sin− 1 x

(1 − x2)
3 / 2

https://dl.doubtnut.com/l/_rHw23ahRsYAq
https://dl.doubtnut.com/l/_qA8R8XDDzeVp
https://dl.doubtnut.com/l/_AZfLol763VF7
https://dl.doubtnut.com/l/_zw1rtZRmv58Y


EXERCISE 7(a) SHORT ANSWER TYPE

30. Evaluate : 

Watch Video Solution

∫
π

0

e2x

.

sin( + x)dx
π

4

31. Evaluate: 

Watch Video Solution

∫
1

0
sin− 1(x√1 − x − √x√1 − x2)dx.

1. Find an antiderivative (or integral) of the following cos 3x (ii)

 (iii)  (iv) 

Watch Video Solution

3x2 + 4x3 (ax + b)2 sin 2x − 4e3x

https://dl.doubtnut.com/l/_6q5GjCLneX0j
https://dl.doubtnut.com/l/_LAunWp9Rm3eK
https://dl.doubtnut.com/l/_rcPzdZPXYfZY


2. Write down the integral of the following 

Watch Video Solution

x4 + x− 5

3. Write down the integral of the following (i)  (ii) 

Watch Video Solution

, x ≠ 0
1

x

x + , x ≠ 0
1

x

4. Write down the integral of the following (i)  (ii) 

Watch Video Solution

x2 / 3 + 1

( + 5x4)
3

√x

https://dl.doubtnut.com/l/_8hNsUGsiupY7
https://dl.doubtnut.com/l/_2rwGkiErpaz4
https://dl.doubtnut.com/l/_WaO5uZbSBzEJ


5. Write down the integral of the following 

cos 2x

Watch Video Solution

6. Write down the integral of the following (i)  (ii)

Watch Video Solution

sinx + cos x

cos ecx(cos ecx + cot x)

7. Write down the integral of the following (i)  (ii) .

Watch Video Solution

5x x3 / 2 + 2ex −
1

x

8. Write down the integral of the following 

2x − 3 cos x + ex

https://dl.doubtnut.com/l/_Gxma7b9yepTB
https://dl.doubtnut.com/l/_ZUYREJv0ayJF
https://dl.doubtnut.com/l/_UCgQrSRILvkc
https://dl.doubtnut.com/l/_kE2eNAIRHJSO


EXERCISE 7(a) LONG ANSWER TYPE QUESTION

Watch Video Solution

9. Evaluate the following integrals : 

Watch Video Solution

∫(3 cos ec2x − 5x + sinx)dx.

10. Evaluate the following integrals : 

Watch Video Solution

∫(sinx + cos x + x5 / 2)dx.

1. 

Watch Video Solution

∫√1 − cos 2xdx

https://dl.doubtnut.com/l/_kE2eNAIRHJSO
https://dl.doubtnut.com/l/_bLN6xlln9Isg
https://dl.doubtnut.com/l/_fcAiLtBnZpdr
https://dl.doubtnut.com/l/_ONT0zrmPcNh6


2. Evaluate the following : 

Watch Video Solution

∫(cos x + cos ec2x − x8 + 1)dx.

3. Evaluate the following : 

Watch Video Solution

∫(ex + 3 cos x − 4x3 + 2)dx.

4. 

Watch Video Solution

∫(ex log a + ea logx + ea log a)dx

5. Evaluate the following : 

∫ dx.
x − 1

x + 1

https://dl.doubtnut.com/l/_2PXLHJqen3La
https://dl.doubtnut.com/l/_6zfln80RtRSe
https://dl.doubtnut.com/l/_fbVSTHBA3bD9
https://dl.doubtnut.com/l/_vJbJPrGUTOsg


Watch Video Solution

6. Evaluate the following : 

Watch Video Solution

∫ dx.
(x − 4)3

x2

7. Evaluate: 

Watch Video Solution

∫  dx
1

1 + sinx

8. Evaluate the following : 

Watch Video Solution

∫ dx.
1 − cos x

1 + cos x

https://dl.doubtnut.com/l/_vJbJPrGUTOsg
https://dl.doubtnut.com/l/_wZTwExaGT4C9
https://dl.doubtnut.com/l/_MdqIv8joGPnf
https://dl.doubtnut.com/l/_KSoliapytuhI


EXERCISE 7(b) SHORT ANSWER TYPE Frequently Asked Question FAQ

9. If , find f(x).

Watch Video Solution

f' (x) = x − , f(1) =
3

x2

11

2

10. If 
 and 


, find 
.

Watch Video Solution

f ′ (x) = a sinx + b cos x

f ′ (0) = 4,   f(0) = 3,   f( ) = 5
π

2
f(x)

1. Evaluate the following 

Watch Video Solution

∫ dx.
2x + 9

x2 + 9x + 30

https://dl.doubtnut.com/l/_y9ZCr3uICQSv
https://dl.doubtnut.com/l/_bcEq3eug7LsB
https://dl.doubtnut.com/l/_2R93zP3XueCa


2. Evaluate: 

Watch Video Solution

∫x√x2 + 1dx.

3. Evaluate: .

Watch Video Solution

∫
dx

√x + 3 − √x + 2

4. Find: .

Watch Video Solution

∫cos 6x√1 + sin 6xdx

5. Integrate: 

Watch Video Solution

∫cos3 x sin4 xdx.

https://dl.doubtnut.com/l/_yAs3gPL2j9Xu
https://dl.doubtnut.com/l/_SOnHwRv4OeRO
https://dl.doubtnut.com/l/_xCy9VDr9U9TQ
https://dl.doubtnut.com/l/_Btot7VggJAsK


6. Evaluate: 

View Text Solution

∫ dx.
sin 2x

a cos2 x + b sin2 x

7. Evaluate: 

View Text Solution

∫ dx.
1

1 + tanx

8. 

Watch Video Solution

(i)∫ dx
sin(x − a)

sinx

9. Integrate : 

Watch Video Solution

∫ dx.
tan4 √x sec2 √x

√x

https://dl.doubtnut.com/l/_kFunCDqnnR7n
https://dl.doubtnut.com/l/_EdCdzqnRXMQK
https://dl.doubtnut.com/l/_rQzwmkGDPTGm
https://dl.doubtnut.com/l/_Vf8q2F70BJZO


EXERCISE 7(b) SHORT ANSWER TYPE

10. Evaluate: 

Watch Video Solution

∫  dx
(x4 − x)

1 / 4

x5

11. 

Watch Video Solution

∫ dx
sinx

√1 + sinx

1. (i)  


(ii)  (iii) 

View Text Solution

∫sinmxdx

∫2x sin(x2 + 1)dx ∫x√1 + 2x2dx.

2. Evaluate ∫ dx
sin(logx)

x

https://dl.doubtnut.com/l/_TKfAA6aEd6T8
https://dl.doubtnut.com/l/_C7fqAhtuYSeZ
https://dl.doubtnut.com/l/_GEO2EoSsGAEG
https://dl.doubtnut.com/l/_Hsh3rycPHz2l


Watch Video Solution

3. (i)  


(ii)  


(iii) 

Watch Video Solution

∫ dx.
x

9 − 4x2

∫(ax + b)3
dx

∫ dx.
secx

log(secx + tanx)

4. 

Watch Video Solution

∫ dx =
x2

(2 + x3)
3

5. (i)  


(ii) 

Watch Video Solution

∫tan2(2x − 3)dx

∫sec2(7 − 4x)dx

https://dl.doubtnut.com/l/_Hsh3rycPHz2l
https://dl.doubtnut.com/l/_Ey3UxW3aERLv
https://dl.doubtnut.com/l/_IDnPWzLMNeDn
https://dl.doubtnut.com/l/_5LveEbAE68ZR
https://dl.doubtnut.com/l/_UUVCDdDUsDAM


6. (i)  


(ii) 

Watch Video Solution

∫ dx.
sinx

1 + cos x

∫ dx.
sinx

(1 + cos x)2

7. 

Watch Video Solution

∫ dx.
sin− 1

x

√1 − x2

8. 

Watch Video Solution

∫√ax + bdx.

9. 

Watch Video Solution

∫ dx
6x − 8

3x2 − 8x + 5

https://dl.doubtnut.com/l/_UUVCDdDUsDAM
https://dl.doubtnut.com/l/_iKWk2KwkoVzM
https://dl.doubtnut.com/l/_GBZRmxVvfUb9
https://dl.doubtnut.com/l/_28mQ59f1lqrA
https://dl.doubtnut.com/l/_XYC7otfhvBHJ


10. 

Watch Video Solution

∫
cos x − sinx

(cos x + sinx)dx

11. (i)  


(ii) 

Watch Video Solution

∫x√x + 2dx

∫ dx, x > 0
x

√x + 4

12. 

Watch Video Solution

∫
dx

√2x + 1 + √2x + 2

13. (i)  


(ii) 

Watch Video Solution

∫ dx
1

√x + x

∫ dx.
1

x − √x

https://dl.doubtnut.com/l/_XYC7otfhvBHJ
https://dl.doubtnut.com/l/_6HUPlNZMEcMf
https://dl.doubtnut.com/l/_BMsA4X7cYj7J
https://dl.doubtnut.com/l/_yE5qelWzdrVK


EXERCISE 7(b) LONG ANSWER TYPE QUESTION

14. 

Watch Video Solution

∫x2sinx3dx

1. (i)  

(ii)  

(iii) 

Watch Video Solution

∫sin2 x cos3 xdx

∫sin3
x cos2 xdx

∫sin3 x cos3 xdx

2. 

Watch Video Solution

∫sinx sin(cos x)dx.

https://dl.doubtnut.com/l/_yE5qelWzdrVK
https://dl.doubtnut.com/l/_GJYaaOCDp4bF
https://dl.doubtnut.com/l/_gr0cNcFj8VHD
https://dl.doubtnut.com/l/_jmAP6mZxfe5b
https://dl.doubtnut.com/l/_mDJ2O29wfKJG


3. (i)  (ii) 

Watch Video Solution

∫tan3 xdx ∫tan4 xdx.

4. 

Watch Video Solution

∫secx log(secx + tanx)dx.

5. 

Watch Video Solution

∫ dx =
1

1 − tanx

6. (i)  


(ii) 

Watch Video Solution

∫ dx
1 + tanx

x + log secx

∫ dx.
1 + cot x

x + log sinx

https://dl.doubtnut.com/l/_mDJ2O29wfKJG
https://dl.doubtnut.com/l/_7kxkrE55ajvF
https://dl.doubtnut.com/l/_5jjzz0unCDRl
https://dl.doubtnut.com/l/_a9a5Kk7kTfkO
https://dl.doubtnut.com/l/_VB1UwhgmfBS5


7. 

Watch Video Solution

∫ dx
sin 2x

sin 4x

8. Evaluate 

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

9. 

Watch Video Solution

∫ is
dx

x2(x4 + 1)

10. Evaluate : 

Watch Video Solution

∫ dx
sin 2x

(a + b cos x)
2

https://dl.doubtnut.com/l/_VB1UwhgmfBS5
https://dl.doubtnut.com/l/_apSDWuphzeDE
https://dl.doubtnut.com/l/_MjICDutF2vEG
https://dl.doubtnut.com/l/_DvJ7DveTKWi0


11. 

Watch Video Solution

∫ dx
√tanx

sinx cos x

12. (i)  


(ii) 

Watch Video Solution

∫ dx
sin(tan− 1 x)

1 + x2

∫ dx
sin(2 tan− 1 x)

1 + x2

13. 

Watch Video Solution

∫ dx
cos(x + a)

sin(x + b)

14. 

Watch Video Solution

∫ dx =
1

sin(x − a)cos(x − b)

https://dl.doubtnut.com/l/_HKopxa4seP6P
https://dl.doubtnut.com/l/_esoTR09djcl0
https://dl.doubtnut.com/l/_AtD0NW3pa9Jq
https://dl.doubtnut.com/l/_Pd5Z8rOwmph3


15. 

Watch Video Solution

∫sec4 xdx

16. (i)  


(ii) 

Watch Video Solution

∫ dx
1 − tanx

1 + tanx

∫ dx
1 − cot x

1 + cot x

17. 

Watch Video Solution

∫xex
2
dx

18. 

Watch Video Solution

∫ dx = ?
e2x − 1

e2x + 1

https://dl.doubtnut.com/l/_Vb8jj8VXFlvR
https://dl.doubtnut.com/l/_Ge0oRzUSVNSu
https://dl.doubtnut.com/l/_dZCNWl2QRyqy
https://dl.doubtnut.com/l/_4MoXxefnbbkP
https://dl.doubtnut.com/l/_Jb9x6i0nlkNm


19.  dx is equal to

Watch Video Solution

∫
xe− 1 + ex− 1

x2 + ex

20. (i)  


(ii) 

Watch Video Solution

∫ex sec2(ex)dx

∫ex cos ec2(ex)dx

21. 

Watch Video Solution

∫ dx = ?
(x + 1)ex

cos2(xex)

22. (i)  


(ii)  

(iii) 

∫ dx
(tan− 1 x)

2

1 + x2

∫ dx
esin − 1 x

√1 − x2

∫ dx
sec2(2 tan− 1 x)

1 + x2

https://dl.doubtnut.com/l/_Jb9x6i0nlkNm
https://dl.doubtnut.com/l/_SWYeuNhUDLTp
https://dl.doubtnut.com/l/_1j8fGQSp2VJm
https://dl.doubtnut.com/l/_fesGUCLlXHUq


Watch Video Solution

23. (i)  


(ii) 

Watch Video Solution

∫ dx
logx

x

∫ dx
(logx)2

x

24. 

Watch Video Solution

∫ dx = ?
(x + 1)(x + logx)

2

x

25. (i)  


(ii) 

Watch Video Solution

∫ dx
sin(logx)

x

∫ logx dx
sin[1 + (logx)

2]

x

https://dl.doubtnut.com/l/_fesGUCLlXHUq
https://dl.doubtnut.com/l/_Ek8Uvb0mmoo5
https://dl.doubtnut.com/l/_KE1btP6k3AEq
https://dl.doubtnut.com/l/_xqGJusjo36NO
https://dl.doubtnut.com/l/_SKGz3SKjDcpb


EXERCISE (7d) SHORT ANSWER TYPE QUESTIONS

26. 

Watch Video Solution

∫2x sec3(x2 + 3)tan(x2 + 3)dx

27. Evaluate:


Watch Video Solution

∫x2ex ^ 3 cos(ex ^ 3)dx

28. (i)  


(ii) 

Watch Video Solution

∫ dx
cos x − sinx

√1 + sin 2x

∫ dx
cos x

(cos( ) + sin( ))x

2
x

2

https://dl.doubtnut.com/l/_SKGz3SKjDcpb
https://dl.doubtnut.com/l/_RrBV1ZCIL9Q5
https://dl.doubtnut.com/l/_Zil29je4qLpV


1. (i)  


(ii) 

Watch Video Solution

∫
dx

x2 + 3

∫
dx

√4 − x2

2. (i)  


(ii)  


(iii) 

Watch Video Solution

∫ dx
1

1 + x2

4

∫ dx
1

(x + 2)2 + 1

∫
dx

4 + 9x2

3. (i)  


(ii) 

Watch Video Solution

∫ dx
1

x2 + 2x + 2

∫ dx
1

9x2 + 6x + 5

https://dl.doubtnut.com/l/_Nz1tmjmV3vMf
https://dl.doubtnut.com/l/_knXx1mTkwzS6
https://dl.doubtnut.com/l/_JL8hTW7X7eJi


4. 

Watch Video Solution

∫ dx
1

√1 − x2

5. (i)  


(ii)  


(iii) 

Watch Video Solution

∫ dx
1

√4 + x2

∫ dx
1

√9 + x2

∫ dx
1

√1 + 4x2

6. 

Watch Video Solution

∫ dx
1

√a2 + b2x2

7. Evaluate:


Watch Video Solution

∫ dx
1

(2 − x)2 + 1

https://dl.doubtnut.com/l/_8YVDdwUGwyXg
https://dl.doubtnut.com/l/_OI90raiCuRtc
https://dl.doubtnut.com/l/_gVk5qiWv9AfI
https://dl.doubtnut.com/l/_vsG9ArMiXBTq


8. (i)  


(ii) 

Watch Video Solution

∫ dx
1

√x2 − 25

∫ dx
1

√(2 − x)2 − 1

9. Evaluate: 

Watch Video Solution

∫x √x4 + 1 dx

10. 

Watch Video Solution

∫  √1 +  dx
x2

9

https://dl.doubtnut.com/l/_vsG9ArMiXBTq
https://dl.doubtnut.com/l/_sRS3AX1D06RO
https://dl.doubtnut.com/l/_Hdc1HokmKsRe
https://dl.doubtnut.com/l/_HXk7C4fXanoQ


11. (i)  


(ii) 

Watch Video Solution

∫
dx

ex + e−x

∫ dx
ex

e2x + 1

12. (i)  


(ii) 

Watch Video Solution

∫ dx
3x2

x6 + 1

∫ dx
3x

1 + 2x4

13. v36.1

Watch Video Solution

14. 

Watch Video Solution

∫ dx
x2

√x6 − a6

https://dl.doubtnut.com/l/_uOtTS9L8tgb0
https://dl.doubtnut.com/l/_i17SJIaUyY2E
https://dl.doubtnut.com/l/_7OOxG05oXdFU
https://dl.doubtnut.com/l/_QgJ3cOHE4QCZ


EXERCISE (7d) LONG ANSWER TYPE QUESTION (I)

15. 

Watch Video Solution

∫ dx
x4 + 1

x2 + 1

16. (i)  


(ii) 

Watch Video Solution

∫ dx
2x

√1 − 4x

∫√ex − 1dx

1. 

Watch Video Solution

∫ dx
secx − tanx

secx + tanx

https://dl.doubtnut.com/l/_QgJ3cOHE4QCZ
https://dl.doubtnut.com/l/_xx1BLIOl7JA7
https://dl.doubtnut.com/l/_hKewzSJTMhb1
https://dl.doubtnut.com/l/_rrTUqk7xhrwr


2. (i)  


(ii) 

Watch Video Solution

∫ dx
1

4 sin2 x + 5 cos2 x

∫
dx

cos2 x + 2 sin2 x

3. 

Watch Video Solution

∫ .
dx

1 + 3 sin2 x

4. 

Watch Video Solution

∫
dx

1 + 3 sin2 x + 8 cos2 x

5. 

Watch Video Solution

∫ dx
cos x

√4 − sin2 x

https://dl.doubtnut.com/l/_Qh8tpxE6q0TS
https://dl.doubtnut.com/l/_zDdq8htmmKyW
https://dl.doubtnut.com/l/_llTKHunPu2TW
https://dl.doubtnut.com/l/_cANEjIcOC6rn


6. 

Watch Video Solution

∫√ dx
1 − x

1 + x

7. (i)  (ii) 

Watch Video Solution

∫√ dx
a + x

a − x
∫√ dx

a − x

a + x

8. 

Watch Video Solution

∫ dx
(sinx + cos x)

√sin 2x

9. Prove that: 

Watch Video Solution

∫ = sec− 1( ) + c
dx

x√x2 − a2

1

a

x

a

https://dl.doubtnut.com/l/_gNftoVozQGmj
https://dl.doubtnut.com/l/_54bfsQkXQzKh
https://dl.doubtnut.com/l/_XXI1DZR2xf41
https://dl.doubtnut.com/l/_HQJdt2uwtgnY


EXERCISE 7( e) FAQ

1. Evaluate: 

Watch Video Solution

∫x2e3xdx

2.  dx

Watch Video Solution

∫cos √x

3. Evaluate the following 

(i)  


(ii) 

Watch Video Solution

∫x log(1 + x)dx

∫x log2 xdx

4. ∫x2 tan− 1 xdx

https://dl.doubtnut.com/l/_t2PYBK0J5VlU
https://dl.doubtnut.com/l/_YhP1yINwmCYR
https://dl.doubtnut.com/l/_TrnaVv9d1Ops
https://dl.doubtnut.com/l/_vPQXPGZljMi0


Watch Video Solution

5. Evaluate: 

Watch Video Solution

∫ logxdx

6. Evaluate: 

Watch Video Solution

∫  dx
x sin− 1 x

√1 − x2

7. Find: 

View Text Solution

∫sin− 1(2x)dx

8. Evaluate : 

∫{log(logx) + }dx
1

(logx)
2

https://dl.doubtnut.com/l/_vPQXPGZljMi0
https://dl.doubtnut.com/l/_9TkpaExfBx3D
https://dl.doubtnut.com/l/_m1uSG8zsH57A
https://dl.doubtnut.com/l/_T44Ho0fmuO7E
https://dl.doubtnut.com/l/_vP97RHWQXpzi


7(e )SHORT ANSWER QUESTION TYPE

Watch Video Solution

1. v31

Watch Video Solution

2. 

View Text Solution

∫x sinxdx

3. Evaluate .

Watch Video Solution

∫x sin 3xdx

https://dl.doubtnut.com/l/_vP97RHWQXpzi
https://dl.doubtnut.com/l/_EKR1PX9nVFUO
https://dl.doubtnut.com/l/_uyGjMhaD3kUH
https://dl.doubtnut.com/l/_qFMm7pgMBnY3


4. Evaluate 

Watch Video Solution

∫x cos xdx.

5. (i)  (ii) 

Watch Video Solution

∫x sec2 xdx ∫x cos2 xdx

6. 

Watch Video Solution

∫x cos 2x sin 4xdx

7. (i)  (ii) 

Watch Video Solution

∫sec3 xdx ∫cos ec3xdx

https://dl.doubtnut.com/l/_aO38yYRWQxot
https://dl.doubtnut.com/l/_Ru2LTSulB8xP
https://dl.doubtnut.com/l/_wZnIwBcZDTHC
https://dl.doubtnut.com/l/_zgyl5zhpcX9B


8. 

Watch Video Solution

∫sin √xdx

9. (i)  


(ii)  


(ii) 

Watch Video Solution

∫x2exdx

∫x2e3xdx

∫x3exdx

10. 

View Text Solution

∫x2e− 2xdx

11. (i)  


(ii) 

∫x2 sinxdx

∫x2 sin 2xdx

https://dl.doubtnut.com/l/_RvTtZdoDrQlS
https://dl.doubtnut.com/l/_ONB7huJrWNbU
https://dl.doubtnut.com/l/_j4sdEKP45n1V
https://dl.doubtnut.com/l/_4ffqT70wL9QT


Watch Video Solution

12. 

Watch Video Solution

∫(1 − x2)sin 2xdx

13. 

View Text Solution

∫x2 cos2 xdx

14. Evaluate: (i) 
(ii) 

Watch Video Solution

∫x cos3 x2sinx2 dx ∫sin7 x dx

15. (i)  (ii) 

Watch Video Solution

∫x3sinx2dx ∫x3cos x2dx

https://dl.doubtnut.com/l/_4ffqT70wL9QT
https://dl.doubtnut.com/l/_wb9Wu78kFWPe
https://dl.doubtnut.com/l/_PUNm2s3jh4Gt
https://dl.doubtnut.com/l/_IHDZQ588t0P8
https://dl.doubtnut.com/l/_6wLAV9xVz1o1


16. 

Watch Video Solution

∫x2n− 1cos xndx

17. 

Watch Video Solution

∫(tan− 1 x2)xdx

18. 

Watch Video Solution

∫x logx, dx

19. (i)  


(ii) 

Watch Video Solution

∫x2 logxdx

∫(x2 + 1)logxdx

https://dl.doubtnut.com/l/_E5i8XfuDu5LV
https://dl.doubtnut.com/l/_QxDcllUThTxo
https://dl.doubtnut.com/l/_HlM0fn8po7Z8
https://dl.doubtnut.com/l/_RcFx8SKD7X4x


EXERCISE 7( e) LONG ANSWER TYPE QUESTION (I)

1. 

Watch Video Solution

∫x3 logxdx

2. Evaluate : 

Watch Video Solution

∫xn logxdx.

3. Evaluate: 

Watch Video Solution

∫  dx
log(x + 2)

(x + 2)2

4. 

Watch Video Solution

∫ log(5 + t)dt

https://dl.doubtnut.com/l/_2UufwgdcS7So
https://dl.doubtnut.com/l/_1NsxVKyh70i3
https://dl.doubtnut.com/l/_YxrUPyDH0U5K
https://dl.doubtnut.com/l/_GRR9DaGQWZUq


5. 

Watch Video Solution

∫(logx)
2
dx =

6. 

Watch Video Solution

∫sinx. log cos xdx

7. (i)  


(ii)  


(iii)  

(iv) 

Watch Video Solution

∫x sin− 1 xdx

∫x cos − 1 xdx

∫x tan− 1 xdx

∫x cot − 1 xdx

https://dl.doubtnut.com/l/_GRR9DaGQWZUq
https://dl.doubtnut.com/l/_WxCinG6ZZe99
https://dl.doubtnut.com/l/_cRxBQSx1HQCm
https://dl.doubtnut.com/l/_XmG6xu5F4r3z


8. (i)  


(ii)  


(iii) 

Watch Video Solution

∫sin− 1 xdx

∫cos − 1 xdx

∫cot − 1 xdx

9. (i)  (ii) 

Watch Video Solution

∫tan− 1
√xdx ∫sin− 1

√xdx

10. (i)  (ii) 

Watch Video Solution

∫ dx
x cos − 1 x

√1 − x
2

∫ dx
x tan− 1 x

(1 + x2)3 / 2

11. 

Watch Video Solution

∫x2 sin− 1 xdx

https://dl.doubtnut.com/l/_o6MokNnlHq4u
https://dl.doubtnut.com/l/_nWZb4v0DqKRv
https://dl.doubtnut.com/l/_Lafof5NhUM6p
https://dl.doubtnut.com/l/_htBV3Q6O69Rd


12. 

Watch Video Solution

∫tan− 1( )dx
3x − x3

1 − 3x2

13. 

Watch Video Solution

∫tan− 1(√ dx
1 − x

1 + x

14. 

Watch Video Solution

∫ dx
x tan− 1 x

(1 + x2)
3
2

15. 

Watch Video Solution

∫x2 logxdx.

https://dl.doubtnut.com/l/_htBV3Q6O69Rd
https://dl.doubtnut.com/l/_BZKaeNkgBzU8
https://dl.doubtnut.com/l/_qGFuFDjYCWVL
https://dl.doubtnut.com/l/_PBQ4OUJc29JH
https://dl.doubtnut.com/l/_88KSnmdNzEuo


EXERCISE 7( e) LONG ANSWER TYPE QUESTION (II)

EXERCISE 7(f)

1. 

Watch Video Solution

∫cos 2θ. ln( )dθ
cos θ + sin θ

cos θ − sin θ

1. 

Watch Video Solution

∫ex cos x. dx

2. 

Watch Video Solution

∫ex sin 2xdx

https://dl.doubtnut.com/l/_Sq1NoCeMTRxC
https://dl.doubtnut.com/l/_DqA0LbNv6OXq
https://dl.doubtnut.com/l/_tHiCABnnuYes


3. 

Watch Video Solution

∫ex cos 2xdx

4. 

Watch Video Solution

∫ex cos 3xdx

5. (i)  


(ii) 

Watch Video Solution

∫e3x cos 5xdx

∫e3x sin 4xdx

6. 

Watch Video Solution

∫e2x sinxdx

https://dl.doubtnut.com/l/_mvwYvJMvYM6F
https://dl.doubtnut.com/l/_c6a4B7BmyM5g
https://dl.doubtnut.com/l/_CDTmEpjf8MSE
https://dl.doubtnut.com/l/_QLs1qNREI5f5
https://dl.doubtnut.com/l/_7XoqdavjrfdC


7. 

Watch Video Solution

∫e2x sinx cos xdx

8. Evaluate 

Watch Video Solution

∫ex cos2 xdx

9. 

Watch Video Solution

∫cos(logx)dx

10. 

Watch Video Solution

∫x2ex
3
cos x3dx

https://dl.doubtnut.com/l/_7XoqdavjrfdC
https://dl.doubtnut.com/l/_UOvPvxPMnwnj
https://dl.doubtnut.com/l/_86HXiPByQvVE
https://dl.doubtnut.com/l/_iIzSvkvMr2cv


EXERCISE 7(f) FAQ

11. Evaluate: 

Watch Video Solution

∫eax cos bx dx

12. Evaluate: 

Watch Video Solution

∫eax sin(bx + c) dx

1. Evaluate the following integrals: 

Watch Video Solution

∫ex(tan− 1 x + )dx
1

1 + x2

2. Integrate: ∫ex( )dx.
x2 + 1

(x + 1)2

https://dl.doubtnut.com/l/_BVtA86JdFn89
https://dl.doubtnut.com/l/_WR0O75JlQ5bz
https://dl.doubtnut.com/l/_239x4i56tc3R
https://dl.doubtnut.com/l/_MnKowNO3ls7u


EXERCISE 7(g) SHORT TYPE QUESTION

Watch Video Solution

3. Find: 

Watch Video Solution

∫ e2xdx.
2x − 5

(2x − 3)3

4. Find: 

Watch Video Solution

∫ex dx.
√1 + sin 2x

1 + cos 2x

5. Find 

Watch Video Solution

∫[log(logx) + ]dx
1

(logx)2

https://dl.doubtnut.com/l/_MnKowNO3ls7u
https://dl.doubtnut.com/l/_HaLzDVz86bJl
https://dl.doubtnut.com/l/_YfpnKE9rmvgl
https://dl.doubtnut.com/l/_zYDlTi3O1sBW
https://dl.doubtnut.com/l/_LhImlRee0pV7


1. 

Watch Video Solution

∫ex(cos x + sinx)dx

2. 

Watch Video Solution

∫ex( )dx
1 + x logx

x

3. Evaluate:


Watch Video Solution

∫ex( − )dx.
1

x

1

x2

4. 

Watch Video Solution

∫ex(tanx + 1)secxdx

https://dl.doubtnut.com/l/_LhImlRee0pV7
https://dl.doubtnut.com/l/_ekMa9jUu9ijA
https://dl.doubtnut.com/l/_ZsIKFDSI8SDz
https://dl.doubtnut.com/l/_oQYCyGqfJHJH


5. Evaluate 

Watch Video Solution

∫ dx
ex(1 + sinx)

1 + cos x

6. Evaluate:


Watch Video Solution

∫ex( )dx
1 − sinx

1 − cos x

7. Evaluate: 

Watch Video Solution

∫ex ( ) dx
sin 4x − 4

1 − cos 4x

8. 

Watch Video Solution

∫ex(cot x + log sinx)dx

https://dl.doubtnut.com/l/_9Fi4TYAZ6OJt
https://dl.doubtnut.com/l/_uLX4FwpypgSd
https://dl.doubtnut.com/l/_QMGTdvoxUdRf
https://dl.doubtnut.com/l/_aY2O6BEXrjcz


9. 

Watch Video Solution

∫cos ecx(cot x − 1)exdx

10. 

Watch Video Solution

∫ex[secx + log(secx + tanx)]dx = ?

11. 

Watch Video Solution

∫ex(sin− 1 x + )dx
1

√1 − x2

12. v20.1

Watch Video Solution

https://dl.doubtnut.com/l/_sWyVxFZNsNSG
https://dl.doubtnut.com/l/_ghDqDXs8fd6Q
https://dl.doubtnut.com/l/_GAQqraQshzEm
https://dl.doubtnut.com/l/_JbTFsVeCW8pa


EXERCISE 7(g) LONG ANSWER TYPE QUESTION (I)

13. Evaluate 

Watch Video Solution

∫ dx
xex

(1 + x)2

1. Evaluate: 

Watch Video Solution

∫ex  dx
1 + x

(2 + x)2

2. (i)  


(ii)  (iii) 

View Text Solution

∫ exdx
2 − x

(1 − x)
2

∫ dx
xe2x

(1 + 2x)
2

∫e2x( )dx
2x − 1

4x2

3.  is equal to∫ex dx
1 + sinx cos x

cos2 x

https://dl.doubtnut.com/l/_xK5aaqxeeNpZ
https://dl.doubtnut.com/l/_uuk5YqGdoJlt
https://dl.doubtnut.com/l/_kaLOxNqyfHSP
https://dl.doubtnut.com/l/_RSYZgcLSpJED


Watch Video Solution

4. Evaluate:


Watch Video Solution

∫{s ∈ (logx) + cos(logx)}dx

5. 

Watch Video Solution

∫ dx
logx

(1 + logx)
2

6. (i)  


(ii) 

Watch Video Solution

∫e2x( )dx
1 + sin 2x

1 + cos 2x

∫e2x( )
sin 4x − 2
1 − cos 4x

7. ∫ ex / 2dx
2 + sinx

1 + cos x

https://dl.doubtnut.com/l/_RSYZgcLSpJED
https://dl.doubtnut.com/l/_MTU6sceTUX39
https://dl.doubtnut.com/l/_zHOJGSNYnOJp
https://dl.doubtnut.com/l/_mX4xmEkYJVZt
https://dl.doubtnut.com/l/_AAn9j8ifFGHH


EXERCISE 7 (h) SHORT ANSWER TYPE QUESTION

Watch Video Solution

8. 

Watch Video Solution

∫{ − }dx = ?
1

(logx)

1

(logx)2

1. (i)  


(ii) 

Watch Video Solution

∫ dx
1

1 − x2

∫ dx
1

x2 − 9

2. 

Watch Video Solution

∫ dx
1

9x2 − 1

https://dl.doubtnut.com/l/_AAn9j8ifFGHH
https://dl.doubtnut.com/l/_nFOeNctOKQw3
https://dl.doubtnut.com/l/_b2qpdua6CiBb
https://dl.doubtnut.com/l/_bulXI3u6pzbw


EXERCISE 7(h) FAQ

3. Evaluate:


Watch Video Solution

∫ dx
1

a2 − b2x2

1. Evaluate: 

Watch Video Solution

∫ dx
1

(x + 1)(x + 2)

2. Evaluate:


Watch Video Solution

∫ dx
(x − 1)(x − 2)(x − 3)

(x − 4)(x − 5)(x − 6)

3. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

(x − 1)2(x + 3)

https://dl.doubtnut.com/l/_CR2BcuBE3FXR
https://dl.doubtnut.com/l/_r3sCArN1fES1
https://dl.doubtnut.com/l/_lJTyQIOsYyMF
https://dl.doubtnut.com/l/_0OqneTYXvuae


EXERCISE 7(i) SHORT ANSWER TYPE QUESTIONS

4. Evaluate: 

Watch Video Solution

∫ dx
x2 + x + 1

(x + 2)(x2 + 1)

5. Find : 

Watch Video Solution

∫( dθ
cos θ

(4 + sin2 θ)(5 − 4 cos2 θ)

1. (i)  


(ii) 

Watch Video Solution

∫
xdx

x2 + 3x + 2

∫ dx
x

x2 + 5x + 6

https://dl.doubtnut.com/l/_0OqneTYXvuae
https://dl.doubtnut.com/l/_Yw7ITjY4ZNXG
https://dl.doubtnut.com/l/_9AluGCWVJRoT
https://dl.doubtnut.com/l/_73X5Ov1udxEh
https://dl.doubtnut.com/l/_CUknXqSFYLnv


EXERCISE 7(i) LONG ANSWER TYPE QUESTIONS (I)

2.  dx is equal to _

Watch Video Solution

∫
x

(x2 + 1)(x2 + 2)

3. 

Watch Video Solution

∫ dx
1

x2 − 5x + 6

4. 

Watch Video Solution

∫ dx
1

x − x3

1. 

Watch Video Solution

∫ dx
x + 1

x2 + 4x − 5

https://dl.doubtnut.com/l/_CUknXqSFYLnv
https://dl.doubtnut.com/l/_ixNLSMTxAMxN
https://dl.doubtnut.com/l/_kC6fj4RxLQuS
https://dl.doubtnut.com/l/_PlH7IWg5RpE0


2. Evaluate: 

Watch Video Solution

∫  dx
x2 + 5x + 3

x2 + 3x + 2

3.  


(ii) .

Watch Video Solution

∫
dx

(x + 1)(2x + 1)

∫ dx
x − 1

(x − 2)(x − 3)

4. 

Watch Video Solution

∫ dx =
1 − x2

x(1 − 2x)

5. integrate this

Watch Video Solution

∫ dx
x2 + 1

x2 − 5x + 6

https://dl.doubtnut.com/l/_q32vfXPqKnuC
https://dl.doubtnut.com/l/_zF5QraHl2ggM
https://dl.doubtnut.com/l/_Xl05UugY9mT9
https://dl.doubtnut.com/l/_wWTqyUm8T0SZ


6. Evaluate: 

Watch Video Solution

∫  dx
x3 + x + 1

x2 − 1

7. 

Watch Video Solution

∫
dx

(x + 1)(x + 2)(x + 3)

8. 

Watch Video Solution

∫ dx
x

(x − 1)(x − 2)(x − 3)

9. 

Watch Video Solution

∫ dx
x2

(x − 1)(x − 2)(x − 3)

https://dl.doubtnut.com/l/_Ff7QM58TZ3Fj
https://dl.doubtnut.com/l/_d7XTZ9TcF1BZ
https://dl.doubtnut.com/l/_TAqWVg5uwmdc
https://dl.doubtnut.com/l/_p7aFkIVNTSWl


10.  are distinct

Watch Video Solution

∫ dx; a, b, c
ax2 + bx + c

(x − a)(x − b)(x − c)

11. Evaluate: 

Watch Video Solution

∫  dx
x3

(x − 1)(x − 2)(x − 3)

12.  


(ii) 

Watch Video Solution

∫ dx
2x

x2 + 3x + 2

∫ dx
x

(x + 1)(x + 2)

13. 

Watch Video Solution

∫ dx
2x − 3

(x2 − 1)(2x + 3)

https://dl.doubtnut.com/l/_NwEXrDU9qqqM
https://dl.doubtnut.com/l/_NrElBKZr6Kzp
https://dl.doubtnut.com/l/_AZbzQPpsAb8b
https://dl.doubtnut.com/l/_UzVwR0oXfqol


14. 

View Text Solution

∫ dx
5x3 + 18x2 − 10x − 6

x(x + 3)(5x − 2)

15. Find 

Watch Video Solution

∫
3x − 2

(x + 1)2(x + 3)dx

16. 

Watch Video Solution

∫ dx
x

(x − 1)
2
(x − 2)

17. Evaluate: 

Watch Video Solution

∫  dx
x2

(x − 1)
3
(x + 1)

https://dl.doubtnut.com/l/_F7nrbjos12Xv
https://dl.doubtnut.com/l/_6lg3btqK4UEe
https://dl.doubtnut.com/l/_tAs22NvBHIkF
https://dl.doubtnut.com/l/_J8muAJBRiHjY
https://dl.doubtnut.com/l/_qKqOOgaBSvlm


18. 

Watch Video Solution

∫ dx
3x + 1

(x − 2)
2
(x + 2)

19. Evaluate: 

Watch Video Solution

∫  dx
x2 + x − 1

(x + 1)
2
(x + 2)

20. (i)  


(ii)  


(iii) 

View Text Solution

∫ dx
1

1 − x3

∫ dx
1

x3 − 1

∫ dx
2x

x3 − 1

21.  


(ii) 

W t h Vid S l ti

∫ dx
2

(1 − x)(1 + x2)

∫ dx
x

(1 − x)(1 + x2)

https://dl.doubtnut.com/l/_qKqOOgaBSvlm
https://dl.doubtnut.com/l/_EWy8wnJE2Ll5
https://dl.doubtnut.com/l/_QS8RlvWwwi7I
https://dl.doubtnut.com/l/_NHS01YHkb1wL


Watch Video Solution

22. 

Watch Video Solution

∫ dx
1

x + x2 + x3

23. 

Watch Video Solution

∫ dx
x4

x4 − 16

24. (i)  


(ii) 

Watch Video Solution

∫
xdx

x3 + x2 + x + 1

∫
dx

x3 + x2 + x + 1

25. Evaluate 

Watch Video Solution

∫ dx
5x

(x + 1)(x2 + 9)

https://dl.doubtnut.com/l/_NHS01YHkb1wL
https://dl.doubtnut.com/l/_Xyuiz2lCZGuF
https://dl.doubtnut.com/l/_6q3PJFFkvFRK
https://dl.doubtnut.com/l/_mH0KfI5DuGJv
https://dl.doubtnut.com/l/_1ApVZwcRZWdS


Watch Video Solution

26. Evaluate: 

Watch Video Solution

∫
x4 dx

(x − 1)(x2 + 1)

27. (i)  (ii) 

Watch Video Solution

∫ dx
1

(x2 + 1)(x2 + 4)
∫ dx

1

(x2 + 1)(x2 + 2)

28. (i)  (ii) 

Watch Video Solution

∫ dx
x2 + 1

(x2 + 4)(x2 + 25)
∫ dx

2x2 + 1

x2(x2 + 4)

29. Evaluate: 

Watch Video Solution

∫  dx
(x2 + 1)(x2 + 2)

(x2 + 3)(x2 + 4)

https://dl.doubtnut.com/l/_1ApVZwcRZWdS
https://dl.doubtnut.com/l/_PsgchFK9mHO6
https://dl.doubtnut.com/l/_luU4jfqtg0xt
https://dl.doubtnut.com/l/_KFdbPlCQfmUO
https://dl.doubtnut.com/l/_27vffLrbagmd


30. (i)  


(ii) 

View Text Solution

∫ dx
2x

(x2 + 1)(x2 + 3)

∫ dx
2x

(1 + x3)(2 + x3)

31. (i)  


(ii)  


(iii)  


(iv)  


(v) 

View Text Solution

∫ dx
sin 2x

(1 + sinx)(2 − sinx)

∫ dx
cos x

(1 + sinx)(2 − sinx)

∫ dx
cos x

(1 − sinx)2(2 + sinx)

∫ dx
(3 sinx − 2)cos x

13 − cos2 x − 7 sinx

∫ dθ.
sin θ

(4 + cos2 θ)(2 − sin2 θ)

32. Find 

Watch Video Solution

∫ dφ
(3 sinφ − 2)cosφ

5 − cosφ − 4 sinφ

https://dl.doubtnut.com/l/_27vffLrbagmd
https://dl.doubtnut.com/l/_gOZUJ30fpB8k
https://dl.doubtnut.com/l/_30vaizWBlGdO
https://dl.doubtnut.com/l/_uyVD56y5Nyoy


33. 

Watch Video Solution

∫ dx
cos x

(1 + sinx)(2 + sinx)

34. (i)  


(ii)  


(iii) 

Watch Video Solution

∫
exdx

ex(ex − 1)

∫ dx
ex

(1 + ex)(2 + ex)

∫ dx
ex

(ex − 1)2(ex + 2)

35. 

Watch Video Solution

∫ dx
sec2 x

(tanx + 1)(tanx + 2)

36. (i) ∫ dx
logx

x(1 + logx)(2 + logx)

https://dl.doubtnut.com/l/_uyVD56y5Nyoy
https://dl.doubtnut.com/l/_DJdGekh83Aoq
https://dl.doubtnut.com/l/_18bUy6iCO5pQ
https://dl.doubtnut.com/l/_Am6Iu4sZkEx9
https://dl.doubtnut.com/l/_LypAhsNGgFg2


EXERCISE 7(i) LONG ANSWER QUESTION TYPE (II)

Watch Video Solution

37. 

Watch Video Solution

∫ dx
secx

1 + cos ecx

1. 

Watch Video Solution

∫ dθ
2 sin 2θ − cos θ

6 − cos2 θ − 4 sin θ

2. .

View Text Solution

∫ dx
tanx + tan3 x

1 + tan3 x

https://dl.doubtnut.com/l/_LypAhsNGgFg2
https://dl.doubtnut.com/l/_6RGJ5K2hJdLr
https://dl.doubtnut.com/l/_Nkc40sX81Qfl
https://dl.doubtnut.com/l/_g8bEAfxOV4bt


EXERCISE 7(j) FAQ

3. Evaluate the following Integrals : 

Watch Video Solution

∫ ⋅ dx
tan− 1

x2

1. 

Watch Video Solution

∫ dx
x + 2

√x2 + 5x + 6

2. Choose the correct answer
 
 (A) 


 (B) 


 (C) 

(D) `1/2(x-4)sqrt(x^2-8x+7)-

h id l i

∫√x2 − 8x + 7dx

(x − 4)√x2 − 8x + 7 + 9 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1
2

(x + 4)√x2 − 8x + 7 + 9 log∣
∣x + 4 + √x2 − 8x + 7∣

∣ + C
1
2

(x − 4)√x2 − 8x + 7 − 3√2 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1
2

https://dl.doubtnut.com/l/_QBLNMW92bMFm
https://dl.doubtnut.com/l/_rvoVzgBSjkiZ
https://dl.doubtnut.com/l/_Ynmbo3gkKrTp


Watch Video Solution

3. Evaluate: 

Watch Video Solution

∫(2x + 3) √x2 + 4x + 3 dx

4. 

Watch Video Solution

∫ dx =
2x

√1 − x2 − x4

5. Evaluate
: 

Watch Video Solution

∫  dx
ex

√5 − 4ex −  e2x

6. Evaluate: 

Watch Video Solution

∫ dx
sec2 x

√tan2 x + 2 tanx + 5

https://dl.doubtnut.com/l/_Ynmbo3gkKrTp
https://dl.doubtnut.com/l/_D91pre61yduN
https://dl.doubtnut.com/l/_FQaKRu773NfF
https://dl.doubtnut.com/l/_e9cPN99FlgFQ
https://dl.doubtnut.com/l/_wG1lRjytV4lN


EXERCISE 7(j) LONG ANSWER TYPE QUESTION (I)

7. Evaluate: .

Watch Video Solution

∫ dx
sin 2x

√sin4 x + 4 sin2 x − 2

1. (i)  


(ii) 

Watch Video Solution

∫
dx

√x(1 − 2x)

∫
dx

√2x − x2

2. (i)  


(ii) 

Watch Video Solution

∫
dx

√5 + 4x − x2

∫
dx

√8 + 3x − x2

https://dl.doubtnut.com/l/_wG1lRjytV4lN
https://dl.doubtnut.com/l/_WRW5P1mUnvsK
https://dl.doubtnut.com/l/_ReeA6SsgybHQ
https://dl.doubtnut.com/l/_EecOWB7Mic8b
https://dl.doubtnut.com/l/_2LUALDX53p3p


EXERCISE 7(k) LONG ANSWER TYPE QUESTION (I)

3. (i)  


(ii) 

Watch Video Solution

∫
dx

√16 − 6x − x2

∫
dx

√7 − 6x − x2

4. Evaluate 

Watch Video Solution

∫
dx

√7 + 3x + 2x2

5. 

Watch Video Solution

∫
dx

√x2 + 4x + 2

1. (i)  (ii) ∫ dx
1

x√x − 1
∫ dx

1

(x + 2)√x + 3

https://dl.doubtnut.com/l/_2LUALDX53p3p
https://dl.doubtnut.com/l/_oCVc2OFydKpQ
https://dl.doubtnut.com/l/_uDxRPwy9pnrx
https://dl.doubtnut.com/l/_zorhTHPogAwm


Watch Video Solution

2. 

Watch Video Solution

∫
dx

x√x2 + 3

3. 

Watch Video Solution

∫
dx

x√x2 + 4x − 4

4. Evaluate: 

Watch Video Solution

∫  dx
1

x2√1 + x2

5. 

Watch Video Solution

∫ dx
√x2 + 1

x

https://dl.doubtnut.com/l/_zorhTHPogAwm
https://dl.doubtnut.com/l/_deZ3nA71ZhEV
https://dl.doubtnut.com/l/_CjkFQ4iJ6h9V
https://dl.doubtnut.com/l/_JVoHihczQyiR
https://dl.doubtnut.com/l/_Kax64NdV2Hw1


6. 

Watch Video Solution

∫
dx

√(2x − x2)
3

7. (i)  (ii) 

Watch Video Solution

∫
dx

x√x2 − 1
∫

dx

x√ax − x2

8. 

Watch Video Solution

∫  
dx

(x − 1)√x2 + 4

9. 

View Text Solution

∫
dx

(x2 − 1)√x − 1

https://dl.doubtnut.com/l/_Kax64NdV2Hw1
https://dl.doubtnut.com/l/_ihS6qLuzuqXR
https://dl.doubtnut.com/l/_G6jfP7Gc3Nwi
https://dl.doubtnut.com/l/_TIdfQHpnVh56
https://dl.doubtnut.com/l/_wwT7uiJiYTk6


SUB CHAPTER 7.3 EXERCISE 7(m)FAQ

10. 

Watch Video Solution

∫ dx
1

(x2 + 4)√x2 − 4

11. 

Watch Video Solution

∫ dx
cos x

sinx + √sinx

12. 

Watch Video Solution

∫ dx
sin− 1 x

x2

1. Evaluate  as the limit of a sum.∫
1

0

x2dx

https://dl.doubtnut.com/l/_wwT7uiJiYTk6
https://dl.doubtnut.com/l/_jccLoFWW3XGb
https://dl.doubtnut.com/l/_hfgqh5JTB1EQ
https://dl.doubtnut.com/l/_H32YveA2uJLQ
https://dl.doubtnut.com/l/_YQ6LBNYP7XqA


Watch Video Solution

2. Evaluate  as the limit of a sum.

Watch Video Solution

∫
1

0
x2dx

3. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
4

1

(3x2 + 2x)dx

4. Evaluate:  as the limit of a sum.

Watch Video Solution

∫
2

0
(x2 + x + 1)dx

5. Evaluate:  as a limit of sum.

Watch Video Solution

∫
2

0
exdx

https://dl.doubtnut.com/l/_YQ6LBNYP7XqA
https://dl.doubtnut.com/l/_TDaO2VhCFycR
https://dl.doubtnut.com/l/_yv5lPrMxRe4i
https://dl.doubtnut.com/l/_8tKGs97n38uo
https://dl.doubtnut.com/l/_tjhiKMtrMzs4


6. Evaluate: 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
3

1

(x2 + 3x + ex)dx

( − e2 − 1)

(e2 + 1)

(e2 − 1)

7. Evaluate:  as a limit of sums.

Watch Video Solution

∫
2

− 1
(e3x + 7x − 5)dx

https://dl.doubtnut.com/l/_tjhiKMtrMzs4
https://dl.doubtnut.com/l/_H1IeVTIkIPfz
https://dl.doubtnut.com/l/_pzfjx3cvXRka


SUB CHAPTER 7.3 EXERCISE 7(m) LONG ANSWER TYPE QUESTION (I)

8. Evaluate:  as the limit of a sum.

Watch Video Solution

∫
b

a

sinxdx

9. Sketch the regions represented by the following: 

(i)  (ii) 

Watch Video Solution

∫
1

0

x2dx ∫
0

sinxdx

π

2

1. (i)  


(ii) 

Watch Video Solution

∫
b

a

xdx

∫
2

1
xdx

https://dl.doubtnut.com/l/_hXPgcO8tTKqD
https://dl.doubtnut.com/l/_gAvCaV3VJFsv
https://dl.doubtnut.com/l/_QAYHu8v8xYxq


2. (i)  


(ii)  


(iii) 

Watch Video Solution

∫
2

1
x2dx

∫
3

2

x2dx

∫
4

0
x2dx

3. (i)  

(ii)  

(iii) 

Watch Video Solution

∫
4

0

(x + 1)dx

∫
5

0
(x + 1)dx

∫
3

0

(x + 4)dx

4. (i)  

(ii) 

Watch Video Solution

∫
4

0
(2x + 3)dx

∫
4

0

(2x − 1)dx

https://dl.doubtnut.com/l/_S1fCyT4YNjzn
https://dl.doubtnut.com/l/_gZEYIzUTxYgv
https://dl.doubtnut.com/l/_6zYh5FmArfQl


SUB CHAPTER 7.3 EXERCISE 7(n) FAQ

5. (i)  


(ii) 

Watch Video Solution

∫
4

1
(x2 − x)dx

∫
2

0

(x2 + 1)dx

6. (i) 

Watch Video Solution

∫
3

0
(x2 + 1)dx

1. Evaluate: 

Watch Video Solution

∫
π / 2

0
ex(sinx − cos x)dx

2. If 
, find the value of ∫
a

0

dx =
1

4 + x2

π

8
a.

https://dl.doubtnut.com/l/_Xr3HVCxRY2fJ
https://dl.doubtnut.com/l/_0gBS9qrAwIIt
https://dl.doubtnut.com/l/_aPDedbYlIFbA
https://dl.doubtnut.com/l/_ytiHuxCPLHXS


Watch Video Solution

3. Evaluate: 

Watch Video Solution

∫
2

0

√4 − x2dx

4. Evaluate the following integrals: 

(i)  


(ii) 

Watch Video Solution

∫
3

2

x2dx

∫
3

1
dx

x

(x + 1)(x + 2)

5. Evaluate the following: 

Watch Video Solution

∫
π

0
cos xdx

https://dl.doubtnut.com/l/_ytiHuxCPLHXS
https://dl.doubtnut.com/l/_0J15EBWTziHH
https://dl.doubtnut.com/l/_0gdNqAW43lGN
https://dl.doubtnut.com/l/_TT05nnfimh6e
https://dl.doubtnut.com/l/_3eGOi7Nge94j


6. Evaluate : 

 by second Fundamental Theorem.

Watch Video Solution

∫
2

0

(2x2 + 3x + 1)dx

7. Evaluate: 

Watch Video Solution

∫
π / 4

0

secx. √ dx
1 − sinx

1 + sinx

8. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
x + sinx

1 + cos x

9. IF  find .

Watch Video Solution

∫
a

0
√xdx = 2a∫

π / 2

0

sin3 xdx, ∫
a+ 1

a

xdx

https://dl.doubtnut.com/l/_3eGOi7Nge94j
https://dl.doubtnut.com/l/_6jV9xnG6FvdD
https://dl.doubtnut.com/l/_F2XUXsB1C4fI
https://dl.doubtnut.com/l/_bfD2b887Y3Op


SUB CHAPTER 7.3 EXERCISE 7(n) SHORT ANSWER TYPE QUESTIONS

10. The marginal cost of a manufacture is given by: 

 


where 'x' is the number of units (in thousands) produced. If 'x'

increases from 3,000 to 9,000 units, find the total increase in cost.

Watch Video Solution

MC =
250x

√x2 + 40

1. (i)  (ii)  


(iii)  


(iv)  


(v) 

Watch Video Solution

∫
5

4
1dx ∫

2

− 1
xdx

∫
4

0

x1 / 2dx

∫
4

0

x3 / 2dx

∫
8

0
x5 / 3dx

https://dl.doubtnut.com/l/_3RAnqsJ9Czbu
https://dl.doubtnut.com/l/_AQghSBkPtbWx


2. (i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

∫
3

2
dx

1

x

∫
2

1

dx
1

x2

∫
e

1

dx

x

∫
1

− 1
(x + 1)dx

3. 

Watch Video Solution

∫
4

2
(x2 − 1)dx

4. (i)  


(ii)  


(iii) a  


b  


∫
1

0

dx

√1 − x2

∫
1

0

dx

√1 + x2

∫
√3

1

dx

1 + x2

∫
1

0

dx

1 + x2

https://dl.doubtnut.com/l/_oGTJhHfDuKUR
https://dl.doubtnut.com/l/_GIZg16dj89kU
https://dl.doubtnut.com/l/_s3R3AagFa28s


(iv)  


(v)  


(vi) 

Watch Video Solution

∫
2 / 3

0

dx

4 + 9x2

∫
1

0
dx

x

x2 + 1

∫
3

2

dx
x

x2 + 1

5. (i)  (ii) 

Watch Video Solution

∫
1

0

dx

3x − 4
∫

3

1

dx

7 − 2x

6. 

Watch Video Solution

∫
1

0
x(1 − x)

5
dx

7. Evaluate: 

h id l i

∫
π / 2

0
sinxdx

https://dl.doubtnut.com/l/_s3R3AagFa28s
https://dl.doubtnut.com/l/_nueTm3MQSMLd
https://dl.doubtnut.com/l/_6uq683bLx2D8
https://dl.doubtnut.com/l/_ALsUAUoFuzLT


Watch Video Solution

8. (i)  (ii)  (iii) 

Watch Video Solution

∫
π / 2

0

cos xdx ∫
π / 2

−π / 2

cos xdx ∫
π / 2

0

cos 2xdx

9. (i)  (ii) 

Watch Video Solution

∫
π / 4

0
tanxdx ∫

π / 2

π / 4
cot xdx

10. (i)  


(ii) 

Watch Video Solution

∫
π / 4

0

secxdx

∫
π / 4

π / 6
cos ecxdx

11. ∫
1

0

3xdx

https://dl.doubtnut.com/l/_ALsUAUoFuzLT
https://dl.doubtnut.com/l/_opn6W6YXiSjG
https://dl.doubtnut.com/l/_uQvHlS5YRH4i
https://dl.doubtnut.com/l/_1qNOvCDLpSes
https://dl.doubtnut.com/l/_Sk7Q0h0acQFc


Watch Video Solution

12. (i)  

(ii) 

Watch Video Solution

∫
0

sin2 xdx

π

2

∫
π / 2

0

cos2 xdx

13. 

Watch Video Solution

∫
π / 2

0

sin3 xdx

14. (i)  


(ii) 

Watch Video Solution

∫
π

0
( − )dx

sin2 x

2
cos2 x

2

∫
π / 2

0
dx

sin2
x

(1 + cos x)2

https://dl.doubtnut.com/l/_Sk7Q0h0acQFc
https://dl.doubtnut.com/l/_QP4Uvh60xiF6
https://dl.doubtnut.com/l/_ouwnO5cF1pbW
https://dl.doubtnut.com/l/_w3cotgUJdRiR
https://dl.doubtnut.com/l/_wsMEQ7DUSgh7


15. 

Watch Video Solution

∫
1

0

(xex + sin( ))dx
πx

4

16. Find the value of the following: 

Watch Video Solution

∫
1

0

dx

1 + x2

17. 

Watch Video Solution

∫
3

2

dx

x2 − 1

18. Evaluate the following:


Watch Video Solution

∫
2

1
 dx

5x2

x2 + 4x + 3

https://dl.doubtnut.com/l/_wsMEQ7DUSgh7
https://dl.doubtnut.com/l/_7J0hmd95qiCI
https://dl.doubtnut.com/l/_hlNuAjwCpY1i
https://dl.doubtnut.com/l/_iaFNhtzj8nPO


19. (i)  


(ii) 

Watch Video Solution

∫
3

1
dx

3x

9x2 − 1

∫
3

2

dx
x

x2 + 1

20. 

Watch Video Solution

∫
0

−π / 4

dx
1 + tanx

1 − tanx

21. If 

Watch Video Solution

∫
k

0

dx = , f i n dt h ev a l u eo fk.
1

2 + 8x2

π

16

22. Evaluate: 

Watch Video Solution

∫
4

0
dx

1

√x2 + 2x + 3

https://dl.doubtnut.com/l/_pttinzOeSo3v
https://dl.doubtnut.com/l/_wLRxp9B9cahC
https://dl.doubtnut.com/l/_bLiwBfltLssB
https://dl.doubtnut.com/l/_i7b1MEGeK72e


23. (i)  


(ii) 

Watch Video Solution

∫
1

0
xexdx = 1

∫
1

0
tan− 1 xdx = − log 2

π

4

1

2

24. 

Watch Video Solution

∫
π / 4

0
2 tan3 xdx = 1 − log 2

25. 

Watch Video Solution

∫
1

0

sin− 1 xdx = − 1
π

2

26. If 
find the value of 

Watch Video Solution

∫
a

0
3x2dx = 8, a.

https://dl.doubtnut.com/l/_dAEbJnrCyBkh
https://dl.doubtnut.com/l/_twnQjwbpNVD8
https://dl.doubtnut.com/l/_9FsA0DcCXQ6z
https://dl.doubtnut.com/l/_G1ZqpASBr82R


27. 

Watch Video Solution

∫
π / 4

0

tanxdx

28. 

Watch Video Solution

∫
0

x2 sinxdx

π

2

29. 

Watch Video Solution

∫
π / 2

0

x2 cos 2xdx

30. Evaluate the integrals


Watch Video Solution

∫ − 11
dx

x2 + 2x + 5

https://dl.doubtnut.com/l/_FEIsVUSnLxNL
https://dl.doubtnut.com/l/_T0yvWhYujme0
https://dl.doubtnut.com/l/_VML8J65g9VBQ
https://dl.doubtnut.com/l/_tcSaBy479PFz


31. (i)  (ii) 

Watch Video Solution

∫
2

1

dx

(x + 1)(x + 2)
∫

2

1

x + 3

x(x + 2)dx

32. 

Watch Video Solution

∫
3

1

dx

x2(1 + x)

33. 

Watch Video Solution

∫
π

0
, (a > 1)

xdx

a2 cos2 x

34. 

Watch Video Solution

∫
4

3

dx

√x2 + 4

https://dl.doubtnut.com/l/_V1TK9e7OZC0T
https://dl.doubtnut.com/l/_SAPCDIoex4ZB
https://dl.doubtnut.com/l/_aR17XekzlfPR
https://dl.doubtnut.com/l/_H9L63vOwFi3O
https://dl.doubtnut.com/l/_Bzm5JbVAX78Q


35. Evaluate the following : 

Watch Video Solution

∫
π

π / 2
ex( )dx.

1 − sinx

1 − cos x

36.  dx is equal to

Watch Video Solution

∫
2

1
( − )e2x1

x

1

2x2

37. 

Watch Video Solution

∫
1

0
dx

1

√x + 3 − √x + 1

38. .

Watch Video Solution

∫
1

0

(cos − 1 x)
2
dx

https://dl.doubtnut.com/l/_Bzm5JbVAX78Q
https://dl.doubtnut.com/l/_qmIVb2n2NORN
https://dl.doubtnut.com/l/_GoVmEV89KWgc
https://dl.doubtnut.com/l/_IMCjgnFMf84g
https://dl.doubtnut.com/l/_O6GIv2KcH6qo


39. Prove that: 

Watch Video Solution

∫
π / 2

0

cos4 xdx =
3π

16

40. If the marginal revenue (MR) function is defined as the rate of

change of total revenue (R ) with respect to the quantity demanded at

an instant. IF the marginal revenue of a function is given by: 

 


find the total revenue function through integration, putting the

condition that R=6 when x=0

View Text Solution

MR = 25e−x / 400(1 − )
x

100

41. IF the marginal cost is defined as the rate of change of total cost

with respect to the number of units of the product, The marginal cost

of producing x units of a product is given by marginal cost

https://dl.doubtnut.com/l/_O6GIv2KcH6qo
https://dl.doubtnut.com/l/_JcPmRTrlfqiP
https://dl.doubtnut.com/l/_a0SqNgoYQ68u


. The cost of producing 4 units of the product is Rs

314.40 . Find the cost function.

Watch Video Solution

= 2x√x + 5

42. If
 
 is
 of the form 
 show
 that


Watch Video Solution

(x) f(x) = a + bx + cx2,

∫
1

0
f(x)dx = {f(0) + 4f( ) + f(1)}

1

6

1

2

43. (A) For each of the following function f(x), verify that:

 (i) f(x)=x+2 (ii) f(x)=

(iii) f(x)=  (B) For each of the following pairs of function  and 

, verify that: 

(i) f(x)=1,g(x) =  (ii) 

Watch Video Solution

∫
2

0
f(x)dx = ∫

1

0
f(x)dx + ∫

2

1
f(x)dx : x2 + 2

ex f(x)

g(x) ∫
1

0
[f(x) + g(x)]dx = ∫

1

0
f(x)dx + ∫

1

0
g(x)dx :

x2 f(x) = ex, g(x) = 1

https://dl.doubtnut.com/l/_a0SqNgoYQ68u
https://dl.doubtnut.com/l/_0qv2u7X13GWG
https://dl.doubtnut.com/l/_VeR24WNxs04K


SUB CHAPTER 7.3 EXERCISE 7(p) FAQ

1. Prove
that: 

Watch Video Solution

∫
2a

0

f(x)dx = ∫
2a

0

f(2a − x)dx.

2. Using properties of definite integrals, prove the following: 

Watch Video Solution

∫
2

0
x√2 − xdx = √2

16

15

3. 

Watch Video Solution

∫
π

−π

(cos ax − sin bx)2
dx

4. Evaluate: ∫
0

dx

π

2 sinx

sinx + cos x

https://dl.doubtnut.com/l/_mPdF3lBaxUem
https://dl.doubtnut.com/l/_WmT1xzENwKAy
https://dl.doubtnut.com/l/_fkZNvCa1Skb2
https://dl.doubtnut.com/l/_W5dCBJapyEeK


Watch Video Solution

5. 

Watch Video Solution

∫
2

− 2

dx
x2

1 + 5x

6. Evaluate: 

Watch Video Solution

∫
π / 2

0
dx

x

sinx + cos x

7. Evaluate: 

Watch Video Solution

∫
π / 2

0
dx

cos2 x

cos2 x + 4 sin2 x

8. Evaluate: 

Watch Video Solution

∫
π

0

dx
cos x

(1 + sinx)2

https://dl.doubtnut.com/l/_W5dCBJapyEeK
https://dl.doubtnut.com/l/_mirZtIyRN654
https://dl.doubtnut.com/l/_mNY04JUoUIa4
https://dl.doubtnut.com/l/_v5PHCUxyYM9D
https://dl.doubtnut.com/l/_BNgRwWQ3ISSw


9. Evaluate (i)  


Evaluate (ii) 

Watch Video Solution

∫
π

0

dx
x sinx

1 + cos2 x

∫
π

0

dx
4x sinx

1 + cos2 x

10. Evaluate: 

Watch Video Solution

∫
2π

0
dx

1

1 + es∈x

11. 

Watch Video Solution

∫
0

log(sinx)dx

π

2

12. Prove that 

Watch Video Solution

∫
π / 2

0
sin 2x log tanxdx = 0

https://dl.doubtnut.com/l/_BNgRwWQ3ISSw
https://dl.doubtnut.com/l/_wOwt9wWKxUdP
https://dl.doubtnut.com/l/_aKko2vUHVy4V
https://dl.doubtnut.com/l/_kigOFxFXm0Ej
https://dl.doubtnut.com/l/_3TjnFJzlvX0y


Watch Video Solution

13. Evaluate: 

Watch Video Solution

∫
π

0
cos 2x log sinxdx

14. Evaluate: 

Watch Video Solution

∫
1

0

cot − 1(1 − x + x2)dx

15. 

Watch Video Solution

∫
1 / 2

− 1

|x cos(πx)| dx

16. Evaluate: 

Watch Video Solution

∫
1

0
|3x − 1|dx

https://dl.doubtnut.com/l/_3TjnFJzlvX0y
https://dl.doubtnut.com/l/_5YNkA1aa7E0H
https://dl.doubtnut.com/l/_gZfTF6gK3yYN
https://dl.doubtnut.com/l/_QN7pq5dSWrp0
https://dl.doubtnut.com/l/_BS7H2DvYbROp


17. Evaluate 

Watch Video Solution

∫
2

− 1

∣∣x
3 − x∣∣dx

18. Evaluate:


Watch Video Solution

∫
1

− 1

dx
x3 + |x| + 1

x2 + 2|x| + 1

19. Evaluate: 

Watch Video Solution

∫
2

0

∣∣x
2 + 2x − 3∣∣dx

20. Evaluate: .

Watch Video Solution

∫
3 / 2

0
|x sinπx|dx

https://dl.doubtnut.com/l/_BS7H2DvYbROp
https://dl.doubtnut.com/l/_WvFgCwkHZc8f
https://dl.doubtnut.com/l/_M7nIWOWDfpa9
https://dl.doubtnut.com/l/_w8l25E6vOLC1
https://dl.doubtnut.com/l/_iSpMUpF7l2LY
https://dl.doubtnut.com/l/_1RmzE43CHoLa


SUB CHAPTER 7.3 EXERCISE 7(p) SHORT ANSWER QUESTION TYPE

21. Evaluate: 

Watch Video Solution

∫
3.5

0.5

[x]dx

22. Evaluate the following integral: 

Watch Video Solution

∫
4

0
(|x| + |x − 2| + |x − 4|)dx

23. Evaluate:  where 


Watch Video Solution

∫
2

− 2

f(x)dx

f(x) = {
2x − 1 −2 ≤ x ≤ 1

3x − 2 1 ≤ x ≤ 2

1. ∫
0

dx

π

2 √sinx

√sinx + √cos x

https://dl.doubtnut.com/l/_1RmzE43CHoLa
https://dl.doubtnut.com/l/_3WcxA4QYGy8Z
https://dl.doubtnut.com/l/_pbBlzZom73mm
https://dl.doubtnut.com/l/_vM8xfWDuHgEA


Watch Video Solution

2. 

Watch Video Solution

∫
0

= ∫
0

=

π

2 dx

1 + √tanx

π

2 dx

1 + √cot x

π

4

3. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

1

1 + tanx

4. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

1

1 + cot x

5. Evaluate the following integral: 

W t h Vid S l ti

∫
π / 2

0
dx

1

1 + tan3 x

https://dl.doubtnut.com/l/_vM8xfWDuHgEA
https://dl.doubtnut.com/l/_bQ3flmS57VJM
https://dl.doubtnut.com/l/_P0jPzOTsrpEg
https://dl.doubtnut.com/l/_0vKMjVj4URBC
https://dl.doubtnut.com/l/_3j3W8E9ZIpwh


Watch Video Solution

6. 

Watch Video Solution

∫
0

dx

π

2 sin x
3
2

sin x + cos x
3
2

3
2

7. (i)  


(ii)  


(iii)  


(iv)  


(v) 

Watch Video Solution

∫
π / 2

0
dx

sin3 x

sin3 x + cos3 x

∫
π / 2

0

dx
cos3 x

sin3 x + cos3 x

∫
π / 2

0

dx
sin4 x

sin4
x + cos4 x

∫
π / 2

0
dx

cos5 x

sin5 x + cos5 x

∫
π / 2

0

dx
sin5 x

sin5 x + cos5 x

8. (i)  


(ii)  


∫
a

0

dx
√x

√x + √a − x

∫
5

0

dx
√x

√x + √5 − x

https://dl.doubtnut.com/l/_3j3W8E9ZIpwh
https://dl.doubtnut.com/l/_hZGLiYnMvuBE
https://dl.doubtnut.com/l/_CKo8rxomKrgM
https://dl.doubtnut.com/l/_fnLOzJunzTcw


(iii) 

Watch Video Solution

∫
a

0

dx

x + √a2 + x2

9. (i)  

(ii) 

Watch Video Solution

∫
1

0

x√2 − xdx

∫
1

0

x2(1 − x)ndx

10. Prove that 

Watch Video Solution

∫
1

0
x(1 − x)

5
dx =

1

42

11. Prove that , where 'f' is an odd function. And,

evaluate, 

W h Vid S l i

∫
a

−a

f(x)dx = 0

∫
1

− 1
log[ ]dx

2 − x

2 + x

https://dl.doubtnut.com/l/_fnLOzJunzTcw
https://dl.doubtnut.com/l/_nxQOE2eSDsoG
https://dl.doubtnut.com/l/_njDwHiPfgatc
https://dl.doubtnut.com/l/_J0Po5z9mnoIZ


SUB CHAPTER 7.3 EXERCISE 7(p) LONG ANSWER TYPE QUESTIONS (I)

Watch Video Solution

1. 

Watch Video Solution

∫
π / 2

0

dx
cos x

3 cos x + sinx

2. Evaluate 

Watch Video Solution

∫
0

dx

π

2 sin2 x

sinx + cos x

3. 

Watch Video Solution

∫
π / 2

0

dx
sinx − cos x

1 + sinx cos x

https://dl.doubtnut.com/l/_J0Po5z9mnoIZ
https://dl.doubtnut.com/l/_JymLRXzDn3U2
https://dl.doubtnut.com/l/_Tx05eLGjNXrP
https://dl.doubtnut.com/l/_CCeu3Jyc1BPQ


4. Integrate the function 

Watch Video Solution

f(x) =
sinx

1 + cos2 x

5. 

Watch Video Solution

∫
π

0

dx
x

1 + sinx

6. 

Watch Video Solution

∫
π

0
dx

x

a2 cos2 x + b2 sin2 x

7. Evaluate the following integral:

Watch Video Solution

∫
1

0
dx

log(1 + x)

1 + x2

https://dl.doubtnut.com/l/_GHjgQnfCNRoK
https://dl.doubtnut.com/l/_wvg7HoLB3xg5
https://dl.doubtnut.com/l/_GXoUmWIBO404
https://dl.doubtnut.com/l/_Y7vssHRjFaKq


8. 

Watch Video Solution

∫
π / 2

−π / 2
(5 sin3 x + 8 sinx + 4 cos2 x)dx

9. (i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

∫
8

− 8
(sin93 x + x295)dx

∫
1

− 1

sin5 x cos4 xdx

∫
π / 4

−π / 4
x3 sin4

xdx

∫
1

− 1

x17 cos4 xdx

10. (i)  


(ii)  


(iii)  


(iv) 

∫
π / 2

0
sin2 dx =

π

4

∫
π / 2

0
cos2 xdx =

π

4

∫
π / 4

−π / 4

sin2 xdx = −
π

4

1

2

∫
π / 4

−π / 4

cos2 xdx = +
π

4

1
2

https://dl.doubtnut.com/l/_of7wYY7pUVed
https://dl.doubtnut.com/l/_ETwO3M48kMjD
https://dl.doubtnut.com/l/_1MsKci0XRAYQ


MULTIPLE CHOICE QUESTION

Watch Video Solution

11. Evaluate: 

Watch Video Solution

∫
2π

0

cos5 x dx

12. 

Watch Video Solution

∫
π

0
dx = (π − 2)

x sinx

1 + sinx

π

2

1. The antiderivative of  equals:

A. 

B. 

(√x + )
1

√x

x + 2x + c
1

3

1
3

1
2

x + x2 + c
2

3

2
3

1

2

https://dl.doubtnut.com/l/_1MsKci0XRAYQ
https://dl.doubtnut.com/l/_HXYY7Sd75bQo
https://dl.doubtnut.com/l/_aOmGEfwpZNEU
https://dl.doubtnut.com/l/_14qzefUcJ9mg


C. 

D. 

Answer: C

Watch Video Solution

x + 2x + c
2

3

3
2

1
2

x + x + c
3

2

3
2

1

2

1
2

2. If  solve that  then find f(x)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[f(x)] = 4x3 −
d

dx

3

x4
f(2) = 0

x4 + −
1

x3

129

8

x3 + +
1

x4

129

8

x4 + +
1

x3

129

8

x3 + −
1

x4

129

8

https://dl.doubtnut.com/l/_14qzefUcJ9mg
https://dl.doubtnut.com/l/_ccJxg1QhTKhO
https://dl.doubtnut.com/l/_zjXrnAhqfHBi


3. equals(A)  (B)

(C)  (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
10x9 + 10xx(log)e10dx

x10 + 10x
10x − x10 + C

10x + x10 + C (10x − x10)
− 1

+ C log(10x + x10) + C

10x − x10 + c

10x + x10 + c

(10x − x10)
− 1

+ c

log(10x + x10) + c

4.  equals

A. 

B. 

C. 

∫
dx

sin2 x cos2 x

tanx + cot x + c

tanx − cot x + c

tanx + cot x + c

https://dl.doubtnut.com/l/_zjXrnAhqfHBi
https://dl.doubtnut.com/l/_lfUTi4VTdtvO


D. 

Answer: B

Watch Video Solution

tanx − cot 2x + c

5.  is equal to:

A. tanx+cotx+c

B. tanx+cosecx+c

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
sin2 x − cos2 x

sin2 x cos2 x

−tanx + cot x + c

tanx + secx + c

https://dl.doubtnut.com/l/_lfUTi4VTdtvO
https://dl.doubtnut.com/l/_A4Xd8LVdvsuA


6.  equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
ex(1 + x)

cos2(exx)

−cot(xex) + c

tan(xex) + c

tan(ex) + c

cot(ex) + c

7. equals(A)  (B)

(C)  (D) 

A. 

B. 

C. 

∫
dx

x2 + 2x + 2
x tan− 1(x + 1) + C

tan− 1(x + 1) + C (x + 1)tan− 1 x + C tan− 1 x + C

x tan− 1(x + 1) + c

tan− 1(x + 1) + c

(x + 1)tan− 1(x + c)

https://dl.doubtnut.com/l/_9Ek6DZd9l8hg
https://dl.doubtnut.com/l/_TjeqIpVRuTae


D. 

Answer: B

Watch Video Solution

tan− 1 x + c

8. equals(A)  (B)

(C)  (D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

√9x − 4x2
sin− 1( ) + C

1

9

9x − 8

8

sin− 1( ) + C
1

2

8x − 9

9
sin− 1( ) + C

1

3

9x − 8

8

sin− 1( ) + C
1

2

9x − 8

9

sin− 1( ) + c
1

9

9x − 8

8

sin− 1( ) + c
1

2

8x − 9

9

sin− 1( ) + c
1

3

9x − 8

8

sin− 1( ) + c
1

2

9x − 8

9

https://dl.doubtnut.com/l/_TjeqIpVRuTae
https://dl.doubtnut.com/l/_SroEgfZ51jvK


9. equal(A)  (B)

(C)  (D)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
xdx

(x − 1)(x − 2)
log

∣
∣
∣
∣

∣
∣
∣
∣

+ C
(x − 1)

2

x − 2

log
∣
∣∣
∣

∣
∣
∣
∣

+ C
(x − 2)

2

x − 1
log

∣
∣
∣
∣

∣
∣
∣
∣

+ C
(x − 1)

2

x − 2

log|(x − 1)(x − 2)| + C

log
∣
∣
∣
( )

2∣
∣
∣

+ c
x − 1

x − 2

log
∣
∣∣
∣
( )

∣
∣
∣
∣

+ C
(x − 2)2

x − 1

log
∣
∣
∣
( )

2∣
∣
∣

+ c
x − 1

x − 2

log|(x − 1)(x − 2)| + c

10. equal(A)  (B)

(C) (D) 

∫
dx

x(x2 + 1)
log|x| − log(x2 + 1) + C

1
2

log|x| + log(x2 + 1) + C
1

2
−log|x| + log(x2 + 1) + C

1

2

log|x| + log(x2 + 1) + C
1

2

https://dl.doubtnut.com/l/_SroEgfZ51jvK
https://dl.doubtnut.com/l/_rcJ93dhjd51e
https://dl.doubtnut.com/l/_KuYjEsY0E1LB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log|x| − log(x2 + 1) + c
1

2

log|x| + log(x2 + 1) + c
1

2

1

2

−log|x| + log(x2 + 1) + c
1

2

log|x| + log(x2 + 1) + c

11. Choose the correct answer
 
 equals
 (A) 

(B)
 
(C)
 
(D)


A. 

B. 

C. 

D. 

∫x2ex ^ 3dx ex ^ 3 + C
1

3

ex ^ 2 + C
1

3
ex ^ 3 + C

1

2
ex ^ 2 + C

1

2

ex
3

+ c
1

3

ex
2

+ c
1

3

ex
3

+ c
1

2

ex
2

+ c
1

2

https://dl.doubtnut.com/l/_KuYjEsY0E1LB
https://dl.doubtnut.com/l/_njVjuWfoqATm


Answer: A

Watch Video Solution

12. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ex secx(1 + tanx)dx = ?

ex cos x + c

ex secx + c

ex sinx + c

ex tanx + c

13. Choose the correct answer
 
 is
 equal to
 (A) 


 (B) 
 (C)

∫√a + x2dx

√1 + x2 + log∣
∣(x + √x + x2)∣

∣ + C
x

2

1

2
(1 + x2) + C

2

3

3
2

https://dl.doubtnut.com/l/_njVjuWfoqATm
https://dl.doubtnut.com/l/_KnyH5DB7nCav
https://dl.doubtnut.com/l/_4z6wghcWTDRU



(D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x(1 + x2) + C
2

3

3
2 √1 + x2 + x2 log∣

∣x + √1 + x2∣
∣ + C

x2

2

1

2

√1 + x2 + log∣
∣(x + √1 + x2)∣

∣ + c
x

2

1

2

(1 + x2) + c
2

3

3
2

x(1 + x2) + c
2

3

3
2

√1 + x2 + x2 log∣
∣x + √1 + x2∣

∣ + c
x2

2

1

2

14.  is equal to

A. 

B. 

∫√x2 − 8x + 7

(x − 4)√x2 − 8x + 7 + 9 log∣
∣(x − 4) + √x2 − 8x + 7∣

∣ + c
1

2

(x − 4)√x2 − 8x + 7 + 9 log∣
∣(x + 4) + √x2 − 8x + 7∣

∣ + c
1

2

https://dl.doubtnut.com/l/_4z6wghcWTDRU
https://dl.doubtnut.com/l/_ulTHh6NPkloR


C. 

D. 

Answer: D

Watch Video Solution

(x − 4)√x2 − 8x + 7 − 3√2 log∣
∣(x − 4) + √x2 − 8x + 7∣

∣ + c
1

2

(x − 4)√x2 − 8x + 7 − log∣
∣(x − 4) + √x2 − 8x + 7∣

∣ + c
1

2

9

2

15. 
is equal to
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

∫
√3

1

dx
1

1 + x2

π

12

π

4

π

6

π

3

π

3

2π

3

π

6

π

12

https://dl.doubtnut.com/l/_ulTHh6NPkloR
https://dl.doubtnut.com/l/_xIglqFU5EJYT


Watch Video Solution

16.  equals:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫
2 / 3

0

dx

4x + 9x2

π

6

π

12

π

24

π

4

17. The value of the integral 

 is

1

∫

1 / 3

dx
(x − x3)

1 / 3

x4

https://dl.doubtnut.com/l/_xIglqFU5EJYT
https://dl.doubtnut.com/l/_ko12i4qLayN3
https://dl.doubtnut.com/l/_2rs8Fua2K72k


A. 6

B. 0

C. 3

D. 4

Answer: A

Watch Video Solution

18. If  then f'(x) is

A. 

B. x sin x

C. x cos x

D. 

Answer: B

f(x) = ∫
x

0
t sin tdt,

cos x + x sinx

sinx + x cos x

https://dl.doubtnut.com/l/_2rs8Fua2K72k
https://dl.doubtnut.com/l/_N6MQ3KSXC31v


Watch Video Solution

19. The value of  is equal to (A) 

(B) C) (D) none of these

A. 0

B. 2

C. 

D. 1

Answer: C

Watch Video Solution

∫
π / 2

−π / 2

 (x3 + x cos x + tan5 x + 1)dx

0 2 π

π

20. The value of  is:

A. 2

∫
π / 2

0
log( )dx

4 + 3 sinx
4 + 3 cos x

https://dl.doubtnut.com/l/_N6MQ3KSXC31v
https://dl.doubtnut.com/l/_nRzMMcWB3lUx
https://dl.doubtnut.com/l/_ZnQ0aixDP0zJ


B. 

C. 0

D. -2

Answer: C

Watch Video Solution

3

4

21. Choose the correct answers is equal to(A) 

 (B)  (C)  (D) 

A. 

B. 

C. 

D. 

∫
dx

ex + e−x

tan− 1(ex) + C tan− 1(e−x) + C log(ex − e−x) + C

log(ex + e−x) + C

tan− 1(ex) + c

tan− 1(e−x) + c

log(ex − e−x) + c

log(ex + e−x) + c

https://dl.doubtnut.com/l/_ZnQ0aixDP0zJ
https://dl.doubtnut.com/l/_gRWCcdogEau4


Answer: A

Watch Video Solution

22. The value of  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
cos 2x

(sinx + cos x)2

−1

sinx + cos x

log|sinx + cos x| + c

log|sinx − cos x| + c

1

(sinx + cos x)2

23. If , then  is equal to (A) 

 (B)  (C) 

f(a + b − x) = f(x) ∫
b

a

xf(x)dx

∫
b

a

f(a + b − x)dx
a − b

2
∫

b

a

f(b − x)dx
a + b

2

https://dl.doubtnut.com/l/_gRWCcdogEau4
https://dl.doubtnut.com/l/_NZujtPbRhonw
https://dl.doubtnut.com/l/_e7kA9Ya2KZ0K


 (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
b

a

f(x)dx
a + b

2
∫

b

a

f(x)dx
b − a

2

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(b + x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(x)dx
a + b

2

24.  is equal to

A. 

B. 

C. 

D. 

∫ex(cos x − sinx)dx

ex cos x + c

ex sinx + c

−ex cos x + c

−ex sinx + c

https://dl.doubtnut.com/l/_e7kA9Ya2KZ0K
https://dl.doubtnut.com/l/_LvrUaDxCtFw5


Answer: A

Watch Video Solution

25.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫  
dx

sin2 x ⋅ cos2 x

tanx + cot x + c

(tanx + cot x)2 + c

tanx − cot x + c

(tanx − cot x)2 + c

26. 


 (b) 
 
 (d) 

If∫ dx = ax + b ln(4ex + 5e−x) + C, then
3ex − 5e− 1

4ex + 5e−x

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = − , b = −
1

8
7
8

https://dl.doubtnut.com/l/_LvrUaDxCtFw5
https://dl.doubtnut.com/l/_WIKuzeoB52LC
https://dl.doubtnut.com/l/_acWqBhnzeyHv


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a = , b = −
1

8
7
8

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = , b = −
−1

8
7
8

a = , b = −
1

8
7
8

27.  is equal to:

A. 

B. 

C. 

D. 

∫tan− 1
√xdx

(x + 1)tan− 1
√x − √x + c

x tan− 1
√x − √x + c

√x − x tan− 1
√x + c

√x − (x + 1)tan− 1
√x + c

https://dl.doubtnut.com/l/_acWqBhnzeyHv
https://dl.doubtnut.com/l/_rOn4Bl1GoLNw


Answer: A

View Text Solution

28. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ex( )
2

dx
1 − x

1 + x2

+ c
ex

1 + x2

− + c
ex

1 + x2

+ c
ex

(1 + x2)
2

+ c
ex

(1 + x2)
2

29.  is equal to:∫
b+ c

a+ c

f(x)dx

https://dl.doubtnut.com/l/_rOn4Bl1GoLNw
https://dl.doubtnut.com/l/_9c4N7CRaxVAU
https://dl.doubtnut.com/l/_dX6U5Lt4hvPy


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
b

a

f(x − c)dx

∫
b

a

f(x + c)dx

∫
b

a

f(x)dx

∫
b− c

a− b

f(x)dx

30. is equal to

A. log 2

B. 2 log 2

C. 

D. 4 log 2

1

∫

− 1

dx
x3 + |x| + 1

x2 + 2|x| + 1

log 2
1

2

https://dl.doubtnut.com/l/_dX6U5Lt4hvPy
https://dl.doubtnut.com/l/_2JtlFVRYSnab


Answer: B

Watch Video Solution

31.  is equal to:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

− 2
|x cos πx|dx

8

π

4

π

2

π

1

π

32.  then if ∫ = a
etdt

1 + t
∫et =

dt

(1 + t)
2

https://dl.doubtnut.com/l/_2JtlFVRYSnab
https://dl.doubtnut.com/l/_wQ7lKMXz5gQU
https://dl.doubtnut.com/l/_zPhxhIURjLsw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a − 1 +
e

2

a + 1 −
e

2

a − 1 −
e

2

a + 1 +
e

2

33. IF  =ay, then a is equal to:

A. 3

B. 6

C. 9

D. 1

Answer: C

x = ∫
4

0
and

dt

√1 + 9t2

d2y

dx
2

https://dl.doubtnut.com/l/_zPhxhIURjLsw
https://dl.doubtnut.com/l/_hLGW0AA5CdHf


View Text Solution

34. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

√9 − 25x2

sin− 1( ) + c
5x

3

sin− 1( ) + c
1

5

5x

3

sin− 1( ) + c(d)
1

6

3 + 5x

3 − 5x

log( ) + c
1

30

3 + 5x

3 − 5x

35. 

A. 

B. 0

∫
π / 2

0

dx
sin3 / 2 x

sin3 / 2 x + cos3 / 2 x

π

2

https://dl.doubtnut.com/l/_hLGW0AA5CdHf
https://dl.doubtnut.com/l/_V6fsorVoAyq9
https://dl.doubtnut.com/l/_cB3KP5P9lTWZ


C. 1

D. 

Answer: D

Watch Video Solution

π

4

36.  is:

A. m cos mx+c

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫sinmxdx

−m cosmx + c

− cosmx + c
1

m

cosmx + c
1

m

https://dl.doubtnut.com/l/_cB3KP5P9lTWZ
https://dl.doubtnut.com/l/_ATuVwvZmoTQB
https://dl.doubtnut.com/l/_PqTy4FqV7g4p


37. 

A. x-tanx+c

B. tanx+x+c

C. tanx-x+c

D. x tanx+c

Answer: C

Watch Video Solution

∫tan2  x dx 

38. 

A. 

B. 

C. 

D. 

∫ex secx(1 + tanx)dx = ?

ex cos x + c

ex secx + c

ex sinx + c

ex tanx + c

https://dl.doubtnut.com/l/_PqTy4FqV7g4p
https://dl.doubtnut.com/l/_ful4fjRhsBo2


Answer: B

Watch Video Solution

39.  is equal to:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

sin2 x cos2 x

tanx + cot x + c

tanx − cot x + c

tanx. cot x + c

tanx − cot 2x + c

40.  is :∫
1

− 1
sin5 x cos4 xdx

https://dl.doubtnut.com/l/_ful4fjRhsBo2
https://dl.doubtnut.com/l/_LRc7IaHRoOKP
https://dl.doubtnut.com/l/_zJ6ulfcvRanH


A. 1

B. -1

C. 0

D. None of these

Answer: C

Watch Video Solution

41.  is equal to

A. 

B. 

C. 

D. 

Answer: B

∫ dx
ex(x logx + 1)

x

ex + c

ex logx + c

+ c
ex

x

logx + c

https://dl.doubtnut.com/l/_zJ6ulfcvRanH
https://dl.doubtnut.com/l/_b3rLYCwiMJmK


Watch Video Solution

42. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ex(f(x) + f ′ (x))dx = exf(x) + C

exf' (x) + c

exf(x) + c

−exf' (x) + c

−exf(x) + c

43. 

A. tanx-x+c

B. cotx-x+c

∫tan2  x dx 

https://dl.doubtnut.com/l/_b3rLYCwiMJmK
https://dl.doubtnut.com/l/_gUk5J0j8iW1K
https://dl.doubtnut.com/l/_IO5pr3Lh6aOo


C. secx-x+c

D. None of these

Answer: A

Watch Video Solution

44.  is:

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

−π

x3 cos3 xdx

π

π

4

2π

https://dl.doubtnut.com/l/_IO5pr3Lh6aOo
https://dl.doubtnut.com/l/_52Ogc4b7N4Ze
https://dl.doubtnut.com/l/_Iz38g2BXpJgN


45. The value of  is equal to:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
ex

2
xdx

(e − 1)
1

3

(e − 1)
1
2

(e + 1)
1

3

(e + 1)
1
2

46.  dx=

A. 

B. 

C. 

D. .

∫
a

0

f(a − x)

∫
2a

0
f(x)dx

∫
a

−a

f(x)dx

∫
a

0
f(x)dx

∫
0

a

f(x)dx

https://dl.doubtnut.com/l/_Iz38g2BXpJgN
https://dl.doubtnut.com/l/_T5Hv2ZG8r7SX


Answer: C

Watch Video Solution

47.  is equal to

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx
sin1 / 2 x

sin1 / 2 x + cos1 / 2 x

π

2

π

3

π

4

48. sin 2x

https://dl.doubtnut.com/l/_T5Hv2ZG8r7SX
https://dl.doubtnut.com/l/_EjxgKF9jlk24
https://dl.doubtnut.com/l/_vpIQHoRoekRg


A. cos 2x

B. 

C. 

D. 

Answer: C

Watch Video Solution

−cos 2x

−cos 2x

2

2 cos 2x

49. The value of  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

∫ dx
x2

1 + x6

tan− 1 x3 + c
1

3

tan− 1 √x + c

sin− 1 x3 + c

https://dl.doubtnut.com/l/_vpIQHoRoekRg
https://dl.doubtnut.com/l/_hkroquNgbhhY


FILL IN THE BLANKS

Watch Video Solution

50.  dx is equal to:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫(2x + 7)
6

+ c
(2x + 7)7

14

+ c
(2x + 7)6

14

+ c
(2x + 7)

7

7

+ c
−(2x + 7)7

14

1. , =____∫(√x + )dx
1

√x
(x ≠ 0)

https://dl.doubtnut.com/l/_hkroquNgbhhY
https://dl.doubtnut.com/l/_NlzNB6N2sBcP
https://dl.doubtnut.com/l/_91GtXrhhizzx


Watch Video Solution

2. (i) =____ 


(ii) ____

Watch Video Solution

∫cos ecxdx

∫secxdx =

3. _____

Watch Video Solution

∫ dx =
sin2 x − cos2 x

sinx cos x

4. 

Watch Video Solution

∫ dx =
x3 + 5x2 + 4

x2

https://dl.doubtnut.com/l/_91GtXrhhizzx
https://dl.doubtnut.com/l/_zytQlo02uDTr
https://dl.doubtnut.com/l/_Cy28sd2KBsXD
https://dl.doubtnut.com/l/_V404p1g4fTs1


5. (i) =____ 


(ii) ______

Watch Video Solution

∫tan2 xdx

∫cot2 xdx =

6. Evaluate: 

Watch Video Solution

∫  dx
1

x2 + 16

7. (i)  


(ii) _____ 


(iii) 

Watch Video Solution

∫√a2 − x2dx =_ _

∫√x2 − a2dx =

∫√a2 + x2dx =_ _

8. =_____∫(2 − x)sinxdx

https://dl.doubtnut.com/l/_8sISmIWBPwyF
https://dl.doubtnut.com/l/_0GwNPEPNQhxx
https://dl.doubtnut.com/l/_VmRN1OHAnNcA
https://dl.doubtnut.com/l/_tFa7qmj2bX7i


Watch Video Solution

9. Given 
 write 
 satisfying

the above.

Watch Video Solution

∫ex (tanx + 1)secx dx = exf(x) + c f(x)

10. 

Watch Video Solution

∫ dx =
1

9x2 − 1

11. ___

Watch Video Solution

∫
3

2
3xdx =

12. ____∫
1

0

=
dx

√1 + x2

https://dl.doubtnut.com/l/_tFa7qmj2bX7i
https://dl.doubtnut.com/l/_zts8GRsatQay
https://dl.doubtnut.com/l/_EyMC09m1DdXt
https://dl.doubtnut.com/l/_DoxUMdLXuU5m
https://dl.doubtnut.com/l/_iS1pi3N0SNo8


TRUE/FALSE QUESTIONS

Watch Video Solution

13. If 
find the
value of 

Watch Video Solution

∫
1

0
(3x2 + 2x + k)dx = 0, k.

14. If  then f'(x) is

Watch Video Solution

f(x) = ∫
x

0

t sin tdt,

15.  where [x] is greatest integer function.

Watch Video Solution

∫
1.5

0
[x]dx =_ _

https://dl.doubtnut.com/l/_iS1pi3N0SNo8
https://dl.doubtnut.com/l/_4be8KkriCKQ9
https://dl.doubtnut.com/l/_MQHDm27dFqAj
https://dl.doubtnut.com/l/_9m346sJjidRg


1. (i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

∫tandx = log|secx| + c

∫cot xdx = log|sinx| + c

∫tanxdx = log|sinx| + c

∫tanxdx = − log cos x + c

2. Prove that

Watch Video Solution

∫sec2 dx = tanx + c

3. (i)  


(ii) 

Watch Video Solution

∫secxdx = |log|tanx ∣ + c

∫secdx = log|secx + tanx| + c

https://dl.doubtnut.com/l/_qCYtf0OhFmUI
https://dl.doubtnut.com/l/_1jJHP7QjIhzA
https://dl.doubtnut.com/l/_E87O9X9fiCN1


4. Prove that

Watch Video Solution

∫ = sin− 1( ) + c
dx

√25 − 9x2

1

3

3x

5

5. 

Watch Video Solution

∫sin √xdx =

6. Prove that 

Watch Video Solution

∫ex(tan− 1 x + )dx = ex tan− 1 x + c
1

1 + x2

7. , then m=

Watch Video Solution

∫ex( )dx = ex(m logx) + c
1 + x logx

x

https://dl.doubtnut.com/l/_5Kv08x2ARnE5
https://dl.doubtnut.com/l/_vrXxQKHKn7Bm
https://dl.doubtnut.com/l/_IvGBLo3TkreF
https://dl.doubtnut.com/l/_LLBqoWJnmHzH


VERY SHORT ANSWER TYPE QUESTONS

8. Show that 

Watch Video Solution

∫ dx = log
∣
∣
∣

∣
∣
∣

+ c
1

x2 − 16

1

8

x − 4

x + 4

9. Prove that 

Watch Video Solution

∫
3

2

dx = log √2
x

x2 + 1

10. Evaluate 

Watch Video Solution

∫
0

cos2 xdx
π

2

1. Find .

Watch Video Solution

∫ dx
3 + 3 cos x

x + sinx

https://dl.doubtnut.com/l/_7wbSX7BxiOmB
https://dl.doubtnut.com/l/_43WccakdjVJI
https://dl.doubtnut.com/l/_McyDw1xY5BXm
https://dl.doubtnut.com/l/_iZJQEuf0u3rT


2. Find 

Watch Video Solution

∫(cos2 2x − sin2 2x)dx

3. Find .

Watch Video Solution

∫xe1 +x2
dx

4. 

Watch Video Solution

∫ dx
sin(tan− 1 x)

1 + x2

5. Integrate 

Watch Video Solution

e− logx

x

https://dl.doubtnut.com/l/_iZJQEuf0u3rT
https://dl.doubtnut.com/l/_tcnI8wKmXFMY
https://dl.doubtnut.com/l/_y4FJaGPYr4Io
https://dl.doubtnut.com/l/_O0ocQkjkU09c
https://dl.doubtnut.com/l/_JF8I4IrcPGt9
https://dl.doubtnut.com/l/_mnQhERHCYdLb


6. If  find f (x).

Watch Video Solution

∫f(x)dx = log|tanx| + c

7. Find: 

Watch Video Solution

∫cos ecx(cos ecx − cot x)dx

8. 

Watch Video Solution

∫ dx.
(logx)2

x

9. Evaluate : 

Watch Video Solution

∫  dx
1

x + x logx

https://dl.doubtnut.com/l/_mnQhERHCYdLb
https://dl.doubtnut.com/l/_siQkVF36EYqi
https://dl.doubtnut.com/l/_91CkC6aV6vYc
https://dl.doubtnut.com/l/_AcJc0ytMCQxT


10. Find 

Watch Video Solution

∫ dx
sin(logx)

x

11. Find: 

Watch Video Solution

∫sin2 xdx

12. Evaluate: 

Watch Video Solution

∫x √x4 + 1 dx

13. Evaluate: 

Watch Video Solution

∫xe2x dx

https://dl.doubtnut.com/l/_KUVegufrJthR
https://dl.doubtnut.com/l/_mRG0ZLZIgH4J
https://dl.doubtnut.com/l/_YYteNaZEwxWK
https://dl.doubtnut.com/l/_r7BYHMjdNSo2


14. Integration of 

Watch Video Solution

ex(logx + ) =
1

x

15. Evaluate: 

Watch Video Solution

∫
2

− 2

(x3 + x)dx

16. Evaluate: 

Watch Video Solution

∫
√3

1
dx

1

1 + x2

17. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2

sin7 xdx

https://dl.doubtnut.com/l/_BBohK97wJemP
https://dl.doubtnut.com/l/_wralRr29jLTR
https://dl.doubtnut.com/l/_UGuoFaOF2KX8
https://dl.doubtnut.com/l/_xoHDnRwOCPsV
https://dl.doubtnut.com/l/_MgRjMFRri1nW


18. Evaluate the following integral: 

Watch Video Solution

∫
4

2

dx
x

x2 + 1

19. Evaluate: 

Watch Video Solution

∫
3

0

dx

9 + x2

20. Evaluate each of the following integral: 

Watch Video Solution

∫
3

2

dx
1

x

21. Evaluate: 

Watch Video Solution

∫
e2

e

dx

x logx

https://dl.doubtnut.com/l/_MgRjMFRri1nW
https://dl.doubtnut.com/l/_05VdlhKISdXj
https://dl.doubtnut.com/l/_sHrg1TKvhjK2
https://dl.doubtnut.com/l/_flZORV0zpFD3


22. 

Watch Video Solution

∫
π / 2

π / 4
cot2 xdx =

23. Evaluate:

Watch Video Solution

∫
π / 2

0
dx

cos x

1 + cos x + sinx

24. Evaluate: 

Watch Video Solution

∫
π / 2

0
ex(sinx − cos x)dx

25. Evaluate: 

Watch Video Solution

∫
π

0

|cos x|dx

https://dl.doubtnut.com/l/_fOQbMVQJQldn
https://dl.doubtnut.com/l/_iu3AlQK6ttn7
https://dl.doubtnut.com/l/_ejDFG3N5M8Vj
https://dl.doubtnut.com/l/_AXVGYU1d71tT


EXERCISE 7.1

1. Find an anti derivative (or integral) of the following
functions by the

method of inspection.
sin
2x

Watch Video Solution

2. Find an anti derivative (or integral) of the following
 functions by

the method of inspection.
cos 3x

Watch Video Solution

3. Find an anti derivative (or integral) of the following functions by

the method of inspection.

Watch Video Solution

e2x

https://dl.doubtnut.com/l/_nKu0G5EK9HqC
https://dl.doubtnut.com/l/_eG6N0461Dq3g
https://dl.doubtnut.com/l/_bXF7dfDdXeTt


4. Find an anti derivative (or integral) of the following functions by

the method of inspection.

Watch Video Solution

(ax + b)2

5. 

Watch Video Solution

sin 2x − 4e3x

6. 

Watch Video Solution

∫(4e3x + 1)dx

7. Find the following integrals : 

Watch Video Solution

∫x2(1 − )dx
1

x2

https://dl.doubtnut.com/l/_wpM6w1qmyvSw
https://dl.doubtnut.com/l/_CDi8sxZrWeUp
https://dl.doubtnut.com/l/_bX5ifZxjiFfs
https://dl.doubtnut.com/l/_q39riFa0G9Tp


8. 

Watch Video Solution

∫(ax2 + bx + c)dx

9. Find the following integrals : 

Watch Video Solution

∫(2x2 + ex)dx

10. Find the following integrals : 

Watch Video Solution

∫(√x − )

2

dx
1

√x

11. Find the integral∫ dx
x3 + 5x2 − 4

x2

https://dl.doubtnut.com/l/_q39riFa0G9Tp
https://dl.doubtnut.com/l/_YthziDFUdKvS
https://dl.doubtnut.com/l/_MvQ71ZBOaS4k
https://dl.doubtnut.com/l/_58qhTieUZ8Xh
https://dl.doubtnut.com/l/_xhtcscigZF3x


Watch Video Solution

12. Evaluate the following integrals. 

Watch Video Solution

∫ dx
x3 + 3x2 + 4

√x

13. Find the following integrals : 

Watch Video Solution

∫ dx
x3 − x2 + x − 1

x − 1

14. Find the following integrals : 

Watch Video Solution

∫(1 − x)√xdx

https://dl.doubtnut.com/l/_xhtcscigZF3x
https://dl.doubtnut.com/l/_PHgRKxQ8xr3t
https://dl.doubtnut.com/l/_GquPoBgsi7jq
https://dl.doubtnut.com/l/_vNYC2soQrvax
https://dl.doubtnut.com/l/_DzjU8WicU2gl


15. Find the integral

Watch Video Solution

∫√x(3x2 + 2x + 3)dx

16. Integrate the functions

Watch Video Solution

1

√x2 + 2x + 2

17. Integrate the functions

Watch Video Solution

1

9x2 + 6x + 5

18. Evaluate: 

Watch Video Solution

∫  dx
1

√7 − 6x − x2

https://dl.doubtnut.com/l/_DzjU8WicU2gl
https://dl.doubtnut.com/l/_UeyihMRNCZoc
https://dl.doubtnut.com/l/_ansfYUPieBJk
https://dl.doubtnut.com/l/_k2mC2vbZ2b8s


19. Integrate the functions

Watch Video Solution

1

√(x − a)(x − b)

20. Evaluate: 

Watch Video Solution

∫  dx
1

√8 + 3x − x2

21. Integrate the functions

Watch Video Solution

1

√(x − a)(x − b)

22. Integrate the functions

Watch Video Solution

4x + 1

√2x2 + x − 3

https://dl.doubtnut.com/l/_fnKxjlPMtArl
https://dl.doubtnut.com/l/_9BucqujOdIlm
https://dl.doubtnut.com/l/_zjIWOZgK0GSh
https://dl.doubtnut.com/l/_GvEPPivbnB89
https://dl.doubtnut.com/l/_II8oPhUEpCKh


23. Evaluate: 

Watch Video Solution

∫  dx
x + 2

√x2 − 1

24. Integrate the functions

Watch Video Solution

5x − 2

1 + 2x + 3x2

25. Evaluate : 

Watch Video Solution

∫  dx
6x + 7

√(x − 5)(x − 4)

26. Evaluate : 

Watch Video Solution

∫ dx
x + 2

√4x − x2

https://dl.doubtnut.com/l/_II8oPhUEpCKh
https://dl.doubtnut.com/l/_Nxpx09pAMimE
https://dl.doubtnut.com/l/_7qAHU7h6lLl0
https://dl.doubtnut.com/l/_xVVfvfLJDfSH
https://dl.doubtnut.com/l/_bPepCH7gDqiy


EXERCISE 7.5

27. Evaluate: 

Watch Video Solution

∫ dx
x + 2

√x2 + 2x + 3

28. Integrate the functions

Watch Video Solution

x + 3

x2 − 2x − 5

29. Integrate the functions

Watch Video Solution

5x + 3

√x2 + 4x + 10

1. dx

Watch Video Solution

∫
x

(x + 1)(x + 2)

https://dl.doubtnut.com/l/_bPepCH7gDqiy
https://dl.doubtnut.com/l/_tAIQrxghLsph
https://dl.doubtnut.com/l/_hlUta3EH0hf8
https://dl.doubtnut.com/l/_MgQQE8nhZGjF


2. Integrate the rational functions

Watch Video Solution

1

x2 − 9

3. 

Watch Video Solution

∫ dx
3x − 1

(x − 1)(x − 2)(x − 3)

4. 

Watch Video Solution

x

(x − 1)(x − 2)(x − 3)

5. Integrate the rational functions

Watch Video Solution

2x

x2 + 3x + 2

https://dl.doubtnut.com/l/_ciqWleV2gRpz
https://dl.doubtnut.com/l/_y38b88KgTmgt
https://dl.doubtnut.com/l/_PZkpjmc0UKxG
https://dl.doubtnut.com/l/_7xVnUETWKkQu


6. Integrate 

Watch Video Solution

1 − x2

x(1 − 2x)

7. 

Watch Video Solution

x

(x2 + 1)(x − 1)

8. 

Watch Video Solution

x

(x − 1)2(x + 2)

9. 

Watch Video Solution

∫ . dx
3x + 5

x3 − x2 − x + 1

https://dl.doubtnut.com/l/_eOFM3yUw9I9Q
https://dl.doubtnut.com/l/_hVHweI1AUJZe
https://dl.doubtnut.com/l/_NAQ2MiVvCdL3
https://dl.doubtnut.com/l/_x0ozh4SFHfS9


10. Evaluate: 

Watch Video Solution

∫ dx
2x − 3

(x2 − 1)(2x + 3)

11. Evaluate: 

Watch Video Solution

∫  dx
5x

(x + 1)(x2 − 4)

12. Evaluate: 

Watch Video Solution

∫  dx
x3 + x + 1

x2 − 1

13. 

Watch Video Solution

2

(1 − x)(1 + x2)

https://dl.doubtnut.com/l/_Na4sVv9v9RzU
https://dl.doubtnut.com/l/_S92yxPjjP2Zx
https://dl.doubtnut.com/l/_P7tzQyPvH9Qv
https://dl.doubtnut.com/l/_iIbijKCiB3ps


14. Integrate the rational functions

Watch Video Solution

3x − 1

(x + 2)2

15. 

Watch Video Solution

1

x4 − 1

16. 

Watch Video Solution

∫
1

x(xn + 1)

17. Evaluate 

Watch Video Solution

∫ dx.
cos x

(1 − sinx)(2 − sinx)

https://dl.doubtnut.com/l/_3jgVP1iGnT4O
https://dl.doubtnut.com/l/_3NyO9Bk0Aa0k
https://dl.doubtnut.com/l/_L6I2QM2v1ZHv
https://dl.doubtnut.com/l/_brPFdTUdcovn


18. Evaluate: 

Watch Video Solution

∫  dx
(x2 + 1)(x2 + 2)

(x2 + 3)(x2 + 4)

19. Integrate the rational functions

Watch Video Solution

2x

(x2 + 1)(x2 + 3)

20. Evaluate: 

Watch Video Solution

∫  dx
1

x (x4 + 1)

21. 

Watch Video Solution

1

(ex − 1)

https://dl.doubtnut.com/l/_RhjSBboBP94J
https://dl.doubtnut.com/l/_mCeFrGIEFGYF
https://dl.doubtnut.com/l/_iQvzvj4TCZlO
https://dl.doubtnut.com/l/_hxRHePzRLrJ9


22.  equals:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
xdx

(x − 1)(x − 2)

log
∣
∣∣
∣

∣
∣
∣
∣

+ c
(x − 1)

2

x − 2

log
∣
∣∣
∣

∣
∣
∣
∣

+ c
(x − 2)2

x − 1

log
∣
∣
∣
( )

2∣
∣
∣

+ c
x − 1

x − 2

23. equal(A)  (B)

(C) (D) 

A. 

B. 

∫
dx

x(x2 + 1)
log|x| − log(x2 + 1) + C

1

2

log|x| + log(x2 + 1) + C
1

2
−log|x| + log(x2 + 1) + C

1

2

log|x| + log(x2 + 1) + C
1

2

log|x| − log(x2 + 1) + c
1

2

log|x| + log(x2 + 1) + c
1

2

https://dl.doubtnut.com/l/_6jBJ4eocCj0R
https://dl.doubtnut.com/l/_tZxpcjE2cI1x


EXERCISE 7.6

C. 

D. 

Answer: A

Watch Video Solution

−log|x| + log(x2 + 1) + c
1

2

1. integrate the function 

Watch Video Solution

x sinx

2. Evaluate .

Watch Video Solution

∫x sin 3xdx

https://dl.doubtnut.com/l/_tZxpcjE2cI1x
https://dl.doubtnut.com/l/_2wtcfvfv9vk6
https://dl.doubtnut.com/l/_QZ7RtmNygtxi


3. Integrate 

Watch Video Solution

x2ex

4. Integrate 

Watch Video Solution

x logx

5. 

Watch Video Solution

x log 2x

6. Integrate the functions

Watch Video Solution

x2 logx

https://dl.doubtnut.com/l/_8jTN9KfniiUS
https://dl.doubtnut.com/l/_TDGull6r4SaF
https://dl.doubtnut.com/l/_KdrINz8iwlbd
https://dl.doubtnut.com/l/_x60jaKYL4MEg


7. Integrate the functions

Watch Video Solution

x sin− 1 x

8. 

Watch Video Solution

∫(x tan− 1 xdx)

9. Integrate 

Watch Video Solution

x cos − 1 x

10. Integrate the functions

Watch Video Solution

(sin− 1 x)
2

https://dl.doubtnut.com/l/_mh1tLE7dC6tr
https://dl.doubtnut.com/l/_51FJ4sIRfLvZ
https://dl.doubtnut.com/l/_mfiujL0QyWg5
https://dl.doubtnut.com/l/_oESywewO7gCn


11. Evaluate: 

Watch Video Solution

∫ dx
x cos − 1 x

√1 − x2

12. 

Watch Video Solution

∫x sec2 xdx

13. Integrate 

Watch Video Solution

tan− 1 x

14. Integrate 

Watch Video Solution

x(logx)2

https://dl.doubtnut.com/l/_WX2UsIwTyRei
https://dl.doubtnut.com/l/_fHbB1vebqVOu
https://dl.doubtnut.com/l/_ElQVxT5dRbcd
https://dl.doubtnut.com/l/_Q15v23nkJRuS


15. Integrate the functions

Watch Video Solution

(x2 + 1)logx

16. Integrate the function 

Watch Video Solution

ex(sinx + cos x)

17. Evaluate 

Watch Video Solution

∫ dx
xex

(1 + x)2

18. Integrate the function 

Watch Video Solution

ex( )
1 + sinx

1 + cos x

https://dl.doubtnut.com/l/_0NhMajYdekLx
https://dl.doubtnut.com/l/_PYXg1bfTGLma
https://dl.doubtnut.com/l/_l7OWS84GQLlb
https://dl.doubtnut.com/l/_m1hObh0lVkIf


19. Evaluate: 

Watch Video Solution

∫ex( − )dx
1

x

1

x2

20. Integrate the functions


Watch Video Solution

(x − 3)ex

(x − 1)3

21. Evaluate: 

Watch Video Solution

∫e2x sinx dx

22. If  equals

Watch Video Solution

x ∈ [ − 1, 1]then
sin− 1(2x)

1 + x2

https://dl.doubtnut.com/l/_aFSib4bsD8m7
https://dl.doubtnut.com/l/_5LHPO8KaiRTL
https://dl.doubtnut.com/l/_iX74QBk0AvCw
https://dl.doubtnut.com/l/_YOwxs3BtxFfz


EXERCISE 7.7

1. Evaluate: 

Watch Video Solution

√4 − x2

2. Integrate the functions

Watch Video Solution

√1 − 4x2

3. Integrate the functions

Watch Video Solution

√x2 + 4x + 6

4. Integrate the functions

Watch Video Solution

√x2 + 4x + 1

https://dl.doubtnut.com/l/_DQi78Dv839Yg
https://dl.doubtnut.com/l/_WQ4k4SDRYe5N
https://dl.doubtnut.com/l/_X9Um17ZeslSt
https://dl.doubtnut.com/l/_qk9SRr46AsUy


5. Integrate the functions

Watch Video Solution

√1 − 4x − x2

6. Integrate the functions

Watch Video Solution

√x2 + 4x − 5

7. Integrate the functions

Watch Video Solution

√1 + 3x − x2

8. Integrate the functions

Watch Video Solution

√x2 + 3x

https://dl.doubtnut.com/l/_h3Yia3fpPhr5
https://dl.doubtnut.com/l/_gpgn5LFUhka2
https://dl.doubtnut.com/l/_jZYAQ3meKfTw
https://dl.doubtnut.com/l/_6vFxPoYPCNYB


EXERCISE 7.8

9. Integrate the functions

Watch Video Solution

√1 +
x2

9

1. 

Watch Video Solution

∫
n

m

xdx

2. 

Watch Video Solution

∫
5

0
(x + 1)dx

3. 

Watch Video Solution

∫
3

− 2
x2dx

https://dl.doubtnut.com/l/_N4IjsN8w1Lsp
https://dl.doubtnut.com/l/_nC5U3UU8u6Uo
https://dl.doubtnut.com/l/_8saBzjFBi7aH
https://dl.doubtnut.com/l/_29TXsbiWeQbc


4. 

Watch Video Solution

∫
4

1

(x2 − x)dx

5. 

Watch Video Solution

∫
1

− 1
exdx

6. 

Watch Video Solution

∫
4

0
(x + e2x)dx

7. 

Watch Video Solution

∫
2

0
x√2 − xdx

https://dl.doubtnut.com/l/_29TXsbiWeQbc
https://dl.doubtnut.com/l/_Kf8qhDDcLPMj
https://dl.doubtnut.com/l/_cER6oC2yADfh
https://dl.doubtnut.com/l/_9cllhUPeaDNu
https://dl.doubtnut.com/l/_yvoQcPpZOH1C


8. The value of , is

Watch Video Solution

π / 2

∫

0

(2 log sinx − log sin 2x)dx

9. 

Watch Video Solution

∫
−

sin2
xdx

π

2

π

2

10. Evaluate: 

Watch Video Solution

∫
π

0

dx
x

1 + sinx

11. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2
sin7 xdx

https://dl.doubtnut.com/l/_yvoQcPpZOH1C
https://dl.doubtnut.com/l/_8CGapFSi2oaZ
https://dl.doubtnut.com/l/_iEYqxE5O4WuQ
https://dl.doubtnut.com/l/_uZVKIB7d4AZp
https://dl.doubtnut.com/l/_DKqcmrXRXKRx


12. Evaluate: 

Watch Video Solution

∫
2π

0

cos5 x dx

13. 

Watch Video Solution

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

14. Evaluate: 

Watch Video Solution

∫
π

0
log(1 + cos x)dx

15. Evaluate the following : 

Watch Video Solution

∫
a

0
dx

√x

√x + √a − x

https://dl.doubtnut.com/l/_bWroBBumtCKh
https://dl.doubtnut.com/l/_4I8LlkBrDhOk
https://dl.doubtnut.com/l/_bHVdP0tivGHx
https://dl.doubtnut.com/l/_g48GMJ8h4qHf


MISCELLANEOUS EXERCISE ON CHAPTER 7

16. Evaluate the following integral: 

Watch Video Solution

∫
4

0
|x − 1|dx

17. Show that 
 if f and g defined as 


and 

Watch Video Solution

∫0af(x)g(x)dx = 2∫0af(x)dx

f(x)  =  f(a − x) g(x)  + g(a − x) =  4

1. 

Watch Video Solution

1

x − x3

2. Integrate the functions
1

√x + a + √x + b

https://dl.doubtnut.com/l/_SOJ5xsxaZP9l
https://dl.doubtnut.com/l/_r4O7UmPo6iuO
https://dl.doubtnut.com/l/_889ToTVZBr8z
https://dl.doubtnut.com/l/_qQibAPecdzNA


Watch Video Solution

3. 

Watch Video Solution

 [Hint : Put x = ]
1

x√ax − x2

a

t

4. 

Watch Video Solution

∫ dx =
1

x2(x4 + 1)
3 / 4

5. Evaluate: 

Watch Video Solution

∫  dx
1

x1 / 2 + x1 / 3

6. Evaluate 

Watch Video Solution

∫ dx
5x

(x + 1)(x2 + 9)

https://dl.doubtnut.com/l/_qQibAPecdzNA
https://dl.doubtnut.com/l/_31O1hvV9Wtmo
https://dl.doubtnut.com/l/_q2LJk7n55mC6
https://dl.doubtnut.com/l/_n5NdsNmHeIxg
https://dl.doubtnut.com/l/_PR6h6U33UaZh


7. Integrate the functions

Watch Video Solution

sinx

sin(x − a)

8. Evaluate: 

Watch Video Solution

∫  dx
e5   ( log )

e
x − e4   ( log )

e
x

e3   ( log )
e
x − e2   ( log )

e
x

9.  

Watch Video Solution

∫
cos x

√4 − sin2 x
dx

10. 

Watch Video Solution

∫ dx
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

https://dl.doubtnut.com/l/_PR6h6U33UaZh
https://dl.doubtnut.com/l/_YnBDEaIsSiph
https://dl.doubtnut.com/l/_Up1j6Tk755Cr
https://dl.doubtnut.com/l/_B3A75fzZyTca
https://dl.doubtnut.com/l/_bv8tYtv9dMze


11. 

Watch Video Solution

∫ dx
1

cos(x + a)cos(x + b)

12.  

Watch Video Solution

∫
x3

√1 − x8
dx

13. 

Watch Video Solution

∫ dx
ex

(1 + ex)(2 + ex)

14. Evaluate: 

Watch Video Solution

∫  dx
1

(x2 + 1)(x2 + 4)

https://dl.doubtnut.com/l/_Bn7gma9LncX6
https://dl.doubtnut.com/l/_vX6rdNyOnZOs
https://dl.doubtnut.com/l/_iBrVJ5MSYhaF
https://dl.doubtnut.com/l/_H8Pn1fJSBVYc


15. 

Watch Video Solution

cos3 xelog sin x

16. Evaluate: 

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

 dx

17. Integrate the functions

Watch Video Solution

f' (ax + b)[f(ax + b)]n

18. Integrate the functions

Watch Video Solution

1

√sin3 x sin(x + α)

https://dl.doubtnut.com/l/_xTuzfpKCAOkU
https://dl.doubtnut.com/l/_xXQyO0h5nkWA
https://dl.doubtnut.com/l/_LArjWVVBmNTf
https://dl.doubtnut.com/l/_Mugz1yvpqrse


19. Integrate the functions

Watch Video Solution

, x ∈ [0, 1]
sin− 1 √x − cos − 1 √x

sin− 1 √x + cos − 1 √x

20. 

Watch Video Solution

∫√ dx
1 − √x

1 + √x

21. 

Watch Video Solution

ex
2 + sin 2x

1 + cos 2x

22. Evaluate: 

Watch Video Solution

∫  dx
x2 + x − 1

(x + 1)2(x + 2)

https://dl.doubtnut.com/l/_QWz7F8aRh9cm
https://dl.doubtnut.com/l/_NeV9xaopPuFe
https://dl.doubtnut.com/l/_CmDgxqlwcc2b
https://dl.doubtnut.com/l/_0JmyWXhYDhZ0
https://dl.doubtnut.com/l/_QTQDIaCIdp7L


23. Integrate the functions

Watch Video Solution

tan− 1 √
1 − x

1 + x

24. Integrate the functions

Watch Video Solution

√x2 + 1[log(x2 + 1) − 2 logx]

x4

25. Evaluate the following : 

Watch Video Solution

∫
π

π / 2

ex( )dx.
1 − sinx

1 − cos x

26. Evaluate: 

Watch Video Solution

∫
π / 4

0

dx
sin 2x

cos4 x + sin4 x

https://dl.doubtnut.com/l/_QTQDIaCIdp7L
https://dl.doubtnut.com/l/_XtmlcyUe3Nob
https://dl.doubtnut.com/l/_30apWV0xomtK
https://dl.doubtnut.com/l/_2v62YOsN9wci
https://dl.doubtnut.com/l/_wseOKhLcotTG


27. Evaluate: 

Watch Video Solution

∫
π / 2

0
dx

cos2 x

cos2 x + 4 sin2
x

28. 

Watch Video Solution

∫ dx

π

3

π

6

sinx + cos x

√sin 2x

29. 

Watch Video Solution

∫
1

0

dx

√1 + x − √x

30. 

Watch Video Solution

∫
0

dx

π

4 sinx + cos x

9 + 16 sin 2x

https://dl.doubtnut.com/l/_wseOKhLcotTG
https://dl.doubtnut.com/l/_G4wfAdsRanNA
https://dl.doubtnut.com/l/_9X2s5ESHE7SV
https://dl.doubtnut.com/l/_0CJRsoqSiX42
https://dl.doubtnut.com/l/_pdPeKEDLU2J3


31. Evaluate: 

dx

Watch Video Solution

∫
0

(sin 2x tan− 1(sinx))

π

2

32. Evaluate: 

Watch Video Solution

∫
π

0

dx
x tanx

secx + tanx

33. Evaluate , where 

Watch Video Solution

∫
4

1
f(x)dx f(x) = |x − 1| + |x − 2| + |x − 3|

34. 

Watch Video Solution

∫
3

1

= + log.
dx

x2(x + 1)

2

3

2

3

https://dl.doubtnut.com/l/_pdPeKEDLU2J3
https://dl.doubtnut.com/l/_iF83sUMlUEm6
https://dl.doubtnut.com/l/_DQalGI58IRRP
https://dl.doubtnut.com/l/_yKSw2yN1HYTA
https://dl.doubtnut.com/l/_dOdFKLtZ0wCp


35. Evaluate: 

Watch Video Solution

∫
1

0
x exdx

36.  x dx is equal to

Watch Video Solution

∫
1

− 1
x17 cos4

37. 

Watch Video Solution

∫
π

0

sin 3xdx =
2

3

38. 

Watch Video Solution

∫
0

2 tan3 xdx = 1 − log 2

π

4

https://dl.doubtnut.com/l/_dOdFKLtZ0wCp
https://dl.doubtnut.com/l/_LePLKuEmGGNb
https://dl.doubtnut.com/l/_RLG3pKKvLW0U
https://dl.doubtnut.com/l/_h1gfHI72V09l


39. 

Watch Video Solution

∫
1

0
sin− 1 xdx = − 1

π

2

40. Evaluate as a limit of a sum.

Watch Video Solution

∫01e2 − 3xdx

41. Choose the correct answers is equal to(A) 

 (B)  (C)  (D) 

A. 

B. 

C. 

D. 

∫
dx

ex + e−x

tan− 1(ex) + C tan− 1(e−x) + C log(ex − e−x) + C

log(ex + e−x) + C

tan− 1(ex) + c

tan− 1(e−x) + c

log(ex − e−x) + c

log(ex + e−x) + c

https://dl.doubtnut.com/l/_J2gYGxbOKbyC
https://dl.doubtnut.com/l/_5HFvzvA6ur2P
https://dl.doubtnut.com/l/_Z2OnIen1JCM1


Answer: A

Watch Video Solution

42. If , then  is equal to (A) 

 (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(a + b − x) = f(x) ∫
b

a

xf(x)dx

∫
b

a

f(a + b − x)dx
a − b

2
∫

b

a

f(b − x)dx
a + b

2

∫
b

a

f(x)dx
a + b

2
∫

b

a

f(x)dx
b − a

2

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(b + x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(x)dx
a + b

2

https://dl.doubtnut.com/l/_Z2OnIen1JCM1
https://dl.doubtnut.com/l/_QNHUGrTAXEok


QUESTION FROM NCERT EXAMPLAR

43. The value of 
is
 
b. 
c. 
d. 

A. 1

B. 0

C. -1

D. 

Answer: B

Watch Video Solution

∫
1

0
tan− 1( )dx,

2x − 1

1 + x − x2
1 −1 0 π/4

π

4

1. Verify the following using the concept of integration as an

antiderivative. 

Watch Video Solution

∫ dx = x − + − log|x + 1| + C
x3

x + 1

x2

2

x3

3

https://dl.doubtnut.com/l/_1CUWFwrLkuLU
https://dl.doubtnut.com/l/_8zejlIXFRx44


Watch Video Solution

2. 

Watch Video Solution

∫
dx

√(x − a)(b − x)

3. Evaluate: 

Watch Video Solution

∫tan8 x sec4 xdx

4. Evaluate: 

Watch Video Solution

∫  dx
x3 + x

x4 − 9

5. Evaluate: 

Watch Video Solution

∫
1

0

dx

ex + e−x

https://dl.doubtnut.com/l/_8zejlIXFRx44
https://dl.doubtnut.com/l/_gfQZ3YpIHXfX
https://dl.doubtnut.com/l/_FN52xWrHVslM
https://dl.doubtnut.com/l/_5y5vgpL6aIfl
https://dl.doubtnut.com/l/_HDIiJcEi8pHT


EXERCISE

6. Find: 

Watch Video Solution

∫
1

0
x(tan− 1 x)

2
dx

1. 

Watch Video Solution

∫ dx
3ax

b2 + c2x2

2. Evaluate:


Watch Video Solution

∫ dx
x3

x4 + 3x2 + 2

3. Evaluate: 

h id l i

∫  dx
x2

x4 + x2 − 2

https://dl.doubtnut.com/l/_HDIiJcEi8pHT
https://dl.doubtnut.com/l/_adNArxpwFhnb
https://dl.doubtnut.com/l/_PTiChIkJOFZ0
https://dl.doubtnut.com/l/_DoNswFuozTOK
https://dl.doubtnut.com/l/_Jt3X5rjifjiU


Watch Video Solution

4. Evaluate:


Watch Video Solution

∫ dx
√1 + x2

x4

5. Evaluate: 

Watch Video Solution

∫  dx
sin− 1 x

(1 − x2)3 \ 2

6. Evaluate the following integrals: 

Watch Video Solution

∫ dx
sin6 x + cos6 x

sin2 x cos2 x

7.  equal to∫ dx
√x

√a3 − x3

https://dl.doubtnut.com/l/_Jt3X5rjifjiU
https://dl.doubtnut.com/l/_dFN5zRez0PIy
https://dl.doubtnut.com/l/_ic58MQ6LzLDV
https://dl.doubtnut.com/l/_sXYXAFEM0BoO
https://dl.doubtnut.com/l/_vGiPm6ZmTOfo


REVISION EXERCISE

Watch Video Solution

8. 

Watch Video Solution

∫
π / 2

π / 3
dx

√1 + cos x

(1 − cos x)
5 / 2

9. Evaluate:


Watch Video Solution

∫
π / 4

π / 4
log(sinx + cos x)dx

10. Evaluate
the following integrals:


Watch Video Solution

∫
π / 2

0

dx
tanx

1 + m2 tan2 x

https://dl.doubtnut.com/l/_vGiPm6ZmTOfo
https://dl.doubtnut.com/l/_vlhgyijSdfXh
https://dl.doubtnut.com/l/_9beN33hS3iWC
https://dl.doubtnut.com/l/_SPfXB0kj928G
https://dl.doubtnut.com/l/_DL3g7c11wzjc


1. Evaluate: 

Watch Video Solution

∫√secx − 1 dx

2. 

Watch Video Solution

∫ dθ
2 sin 2θ − cos θ

6 − cos2 θ − 4 sin θ

3. 

Watch Video Solution

∫ dx
x8

(1 + x3)1 / 3

4. 

Watch Video Solution

∫ dx
x

(1 + sinx)

https://dl.doubtnut.com/l/_DL3g7c11wzjc
https://dl.doubtnut.com/l/_cGjvke61BYdY
https://dl.doubtnut.com/l/_bHUeuBKGo78X
https://dl.doubtnut.com/l/_dTFM3olY5WR6


5. 

Watch Video Solution

∫ex( )
2

dx
1 − x

1 + x2

6. 

Watch Video Solution

∫
tan θdθ

1 − sin θ

7. 

Watch Video Solution

∫ dx
x2 − 2

√3 − x2

8. 

Watch Video Solution

∫
dx

sin3 x cos5 x

https://dl.doubtnut.com/l/_tADF7biV1oBR
https://dl.doubtnut.com/l/_xf7rPgzok1eW
https://dl.doubtnut.com/l/_AoUV2m6fNeHi
https://dl.doubtnut.com/l/_U2LMpdvgnNdk


9. Evaluate: 

Watch Video Solution

∫√  dx
a + x

x

10. 

Watch Video Solution

∫
π / 2

0
(√tanx + √cot x)dx

11. 

Watch Video Solution

∫
π

0
dx

√1 + cos x

(1 − cos x)
5 / 2

12. 

Watch Video Solution

∫cos(2 cot − 1 √ )dx
1 − x

1 + x

https://dl.doubtnut.com/l/_Q0O6PgiBoCp3
https://dl.doubtnut.com/l/_TUMvHMFC16ct
https://dl.doubtnut.com/l/_lOgArYstZ0EA
https://dl.doubtnut.com/l/_HNBS8uFzdnNz
https://dl.doubtnut.com/l/_5OvcV4R1RqHL


13. Evaluate: 

Watch Video Solution

∫  dx
logx

(x + 1)2

14. 

Watch Video Solution

∫ dx
√cos x

sinx

15. (i)  


(ii) 

Watch Video Solution

∫ dx
1

cos4 x + sin4 x

∫ dx
1

sin4 x + sin2 x cos2 x + cos4 x

16. 

Watch Video Solution

∫
sin− 1 √x − cos − 1 √x

sin− 1 √x + cos − 1 √x

https://dl.doubtnut.com/l/_5OvcV4R1RqHL
https://dl.doubtnut.com/l/_xTMcN8t0pfRr
https://dl.doubtnut.com/l/_FXgBFoWLvQPL
https://dl.doubtnut.com/l/_XVFwbaiW0FVz
https://dl.doubtnut.com/l/_GXK2xrTxwbzn


17. Evaluate:


Watch Video Solution

∫ dx
√cos 2x

sinx

18. Evaluate: 

Watch Video Solution

∫
π

0

dx
ecos x

ecos x + e− cos x

19. 

Watch Video Solution

∫
5

2
(x2 + x)dx

20. 

Watch Video Solution

∫
2

0
x√2 − xdx

https://dl.doubtnut.com/l/_GXK2xrTxwbzn
https://dl.doubtnut.com/l/_21zeqBd2GUNU
https://dl.doubtnut.com/l/_Q4ffCElGGJ1g
https://dl.doubtnut.com/l/_8Z2dqMqiKZG5


21. 

Watch Video Solution

∫
2π

0

|cos x|dx = 4

22. 

Watch Video Solution

∫
π / 2

0

log(tanx + cot x)dx = π(log 2)

23. Prove that 

.

Watch Video Solution

∫
π / 2

0

dx = log( )
sinx cos x

a2 sin2 x + b2 cos2 x

1

a2 − b2

a

b

24. Evaluate: 

Watch Video Solution

∫
π / 2

0

√cos θ sin3 θdthη

https://dl.doubtnut.com/l/_Lou5GNUKbjSA
https://dl.doubtnut.com/l/_VFGI1FWAydwS
https://dl.doubtnut.com/l/_6OriPYqv6bQS
https://dl.doubtnut.com/l/_maYSAMOt7FCg


25.  equals

Watch Video Solution

∫
π / 4

0

(√tanx + √cot x)dx

26. Evaluate: 

Watch Video Solution

∫
1

0
dx

1

√1 + x − √x

27. Evaluate: 

dx

Watch Video Solution

∫
0

(sin 2x tan− 1(sinx))

π

2

28. Evaluate: 

Watch Video Solution

∫
π / 2

0
dx

cos2 x

cos2 x + 4 sin2 x

https://dl.doubtnut.com/l/_1eEjYa9xVA03
https://dl.doubtnut.com/l/_I6z26uFPTwTG
https://dl.doubtnut.com/l/_eoHiF8sRbK8B
https://dl.doubtnut.com/l/_oaSP3NAAXFDX


CHECK YOUR UNDERSTANDING

1. If , then f(x)=……..

Watch Video Solution

f' (x) = x − , f(1) =
3

x2

11

2

2. 

Watch Video Solution

∫tanxdx = − log|cos x| + c

3. 

Watch Video Solution

∫cos ec2xdx = − cot x

4. 

Watch Video Solution

∫√a2 − x2dx =

https://dl.doubtnut.com/l/_9HC99YsXxlUV
https://dl.doubtnut.com/l/_7PFVVBJk6Mq7
https://dl.doubtnut.com/l/_cR8SHWWSoShK
https://dl.doubtnut.com/l/_lxHNg614s1GE


5. Evaluate: 

Watch Video Solution

∫ex(cot x − cos ec2x)dx

6. Which of the following is wrong?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫√x2 − a2dx = √x2 − a2 + log∣
∣x + √x2 + a2∣

∣ + c
x

2
a2

2

∫√x2 + a2dx = √x2 + a2 + log∣
∣x + √x2 + a2∣

∣ + c
x

2
a2

2

∫ dx = log∣
∣x + √x2 + a2∣

∣ + c
1

√x2 + a2

∫ dx = log∣
∣x + √x2 − a2∣

∣ + c
1

√x2 − a2

7. Evaluate: 

W t h Vid S l ti

∫
1

0

x exdx

https://dl.doubtnut.com/l/_D9Jq4u9Ia8OP
https://dl.doubtnut.com/l/_oY35I0eb7TUF
https://dl.doubtnut.com/l/_kkJqjMhdzGdW


COMPETITION FILE

Watch Video Solution

8. Evaluate 

Watch Video Solution

∫
1

− 1
|x|dx

9. If 
then write the value of 

Watch Video Solution

(x) = ∫
x

0
t sin t dt, f ′ (x)

10. 

Watch Video Solution

∫
1

− 1
x17 cos4 xdx = 0

https://dl.doubtnut.com/l/_kkJqjMhdzGdW
https://dl.doubtnut.com/l/_Tjvmqh5j3wcc
https://dl.doubtnut.com/l/_EkMyGkHFZE87
https://dl.doubtnut.com/l/_tN1rjQR330BF


1. Let . Then which of the

following is true?

A. 

B. 

C. 

D. 

Watch Video Solution

I = ∫
1

0
dx and J = ∫

1

0
dx

sinx

√x

cos x

√x

I > and J < 2
2

3

I > and J > 2
2

3

I < and J < 2
2

3

I < and J > 2
2

3

2. The value of  , is

A. 

B. 

C. 

√2∫ dx
sinx

sin(x − )π

4

x − log∣
∣cos(x − )∣

∣ + c
π

4

x + log∣
∣cos(x − )∣

∣ + c
π

4

x − log∣
∣sin(x − )∣

∣ + c
π

4

https://dl.doubtnut.com/l/_XmXicxAgzh2a
https://dl.doubtnut.com/l/_oMU0VG0NTDct


D. 

Watch Video Solution

x + log∣
∣sin(x − )∣

∣ + c
π

4

3.  where [.] denotes the greatest integer function, is

equal to

A. 

B. 1

C. 

D. 

Watch Video Solution

∫
π

0

[cot x]dx,

π

2

−1

−
π

2

https://dl.doubtnut.com/l/_oMU0VG0NTDct
https://dl.doubtnut.com/l/_CvKaAdM9yJLn


4. Let  be a function defined on  such that 

for all  and . 


Then  is equal to

A. 

B. 21

C. 41

D. 42

Watch Video Solution

p(x) R p' (x) = p' (1 − x)

xε[0, 1], p(0) = 1, p(1) = 41

∫
1

0
p(x)dx

√41

5. The value of is:

A. 

B. 

∫
1

0
dx

8 log(1 + x)

1 + x2

π log 2

log 2
π

8

https://dl.doubtnut.com/l/_kW5jnwt64wFw
https://dl.doubtnut.com/l/_n0QvzGnroAlP


C. 

D. 

Watch Video Solution

log 2
π

2

log 2

6. For , definite . Then  has

A. local maximum at 

B. local minimum at 

C. local minimum at  and local maximum at 

D. local maximum at  and local minimum at 

Watch Video Solution

xε(0, )
5π

2
f(x) = ∫

x

0

√t sin tdt f

π and 2π

π and 2π

π 2π

π 2π

https://dl.doubtnut.com/l/_n0QvzGnroAlP
https://dl.doubtnut.com/l/_QKmLnVdg6iCp


7. Let [] denote the greatest integet function then the value

A. 0

B. 

C. 

D. 

Watch Video Solution

∫
1.5

0
x[x2]. dx

3
2

3

4

5

9

8. If the integral ,

then a is equal to

A. -1

B. -2

∫ dx = x + a log|sinx − 2 cos x| + c
5 tanx

tanx − 2

https://dl.doubtnut.com/l/_rwczOQOrFVgi
https://dl.doubtnut.com/l/_6Wem6XV1xXKo


C. 1

D. 2

Watch Video Solution

9. If  then  equals

A. 

B. 

C. 

D. 

Watch Video Solution

g(x) = ∫
x

0
cos4 tdt, g(x + π)

q(x)

q(π)

q(x) + q(π)

q(x) − q(π)

q(x). q(π)

https://dl.doubtnut.com/l/_6Wem6XV1xXKo
https://dl.doubtnut.com/l/_vECpn211fpT1


10. If , then 

A. 

B. 

C. 

D. 

Watch Video Solution

∫f(x)dx = ψ(x) ∫x5f(x3)dx

x3ψ(x3) − 3∫x3ψ(x3)dx + c
1

3

x3ψ(x3) − 3∫x2ψ(x3)dx + c
1

3

[x3ψ(x3) − 3∫x3ψ(x3)dx] + c
1

3

[x3ψ(x3) − 3∫x2ψ(x3)dx] + c
1

3

11. The intercepts on x-axis made by tangents to the
 curve,


 which are parallel to the line 
 , are

equal
to
(1) 
(2) 
(3) 
(4) 

A. 

B. 

y = ∫
x

0
|t|dt, x ∈ R, y = 2x

±2 ±3 ±4 ±1

±2

±3

https://dl.doubtnut.com/l/_DhLqj6hRKghP
https://dl.doubtnut.com/l/_d2TvhSTqodMS


C. 

D. 

Watch Video Solution

±4

±1

12. The integral  is equal to

A. 

B. 

C. 

D. 

Watch Video Solution

∫(1 + x − )ex+ dx
1

x

1
x

xex+ + c
1
x

(x + 1)ex+ + c
1
x

−xex+ + c
1
x

(x − 1)ex+ + c
1
x

https://dl.doubtnut.com/l/_d2TvhSTqodMS
https://dl.doubtnut.com/l/_LQqzngz2np2s


13. The integral  dx is equal to

A. 

B. 

C. 

D. 

Watch Video Solution

∫
π

0
√1 + 4sin2 − 4sin

x

2
x

2

− 4 − 4√3
2π

3

4√3 − 4

4√3 − 4 −
π

3

π − 4

14. 

A. 

B. 

C. 

D. 

The integral ∫  equals
dx

x2(x4 + 1)
3 / 4

( )
1 / 4

x4 + 1

x4

(x4 + 1)
1 / 4

+ c

−(x4 + 1)
1 / 4

+ c

−( )
1 / 4

+ c
x4 + 1

x4

https://dl.doubtnut.com/l/_QqiKUExR4dd3
https://dl.doubtnut.com/l/_981BEtqT2QRg


Watch Video Solution

15. The
 integral 
 is equal to:
 (1) 2

(2) 4 (3) 1 (4) 6

A. 2

B. 4

C. 1

D. 6

Watch Video Solution

∫
4

2

logx2

logx2 + log(36 − 12x + x2)dx

16. The integral  is equal to (where C is a constant

of integration)

∫ dx
2x12 + 5x9

(x5 + x3 + 1)3

https://dl.doubtnut.com/l/_981BEtqT2QRg
https://dl.doubtnut.com/l/_GovQUj1R5EKl
https://dl.doubtnut.com/l/_xIJQEZJkh4in


A. 

B. 

C. 

D. 

Watch Video Solution

+ c
x10

2(x5 + x3 + 1)2

+ c
x5

2(x5 + x3 + 1)2

− + c
x10

2(x5 + x3 + 1)
2

− + c
x5

2(x5 + x3 + 1)
2

17.  is equal to

A. 

B. 

C. 

D. 

Watch Video Solution

lim
n→ ∞

[ ]
1 /n(n + 1)(n + 2)...3n

n2n

27

e2

9

e2

3 log 3 − 2

18

e4

https://dl.doubtnut.com/l/_xIJQEZJkh4in
https://dl.doubtnut.com/l/_1OhVMYzlxNzN


18.  is equal to

A. 4

B. -1

C. -2

D. 2

Watch Video Solution

∫
3π / 4

π / 4

dx

1 + cos x

19. Let . If
 ,

Where  is a constant of integration, then the ordered pair  is

equal to :

A. 

B. 

In = ∫tann xdx, (n > 1) I4 + I6 = a tan5 x + bx5 + C

C (a, b)

( , − 1)
1

5

( − , 0)
1

5

https://dl.doubtnut.com/l/_1OhVMYzlxNzN
https://dl.doubtnut.com/l/_r5JXGw4gzgdz
https://dl.doubtnut.com/l/_1aCKNRdkRApi


C. 

D. 

Watch Video Solution

( − , 1)
1

5

( , 0)
1

5

20. The integral 

 is equal to 


(where c is a constant of integration)

A. 

B. 

C. 

D. 

Watch Video Solution

∫ dx
sin2 x cos2 x

(sin5 x + cos3 x sin2 x + sin3 x cos2 x + cos5 x)
2

+ c
1

3(1 + tan3 x)

+ c
−1

3(1 + tan3 x)

+ c
1

1 + cot3 x

+ c
−1

1 + cot3 x

https://dl.doubtnut.com/l/_1aCKNRdkRApi
https://dl.doubtnut.com/l/_ocCwIH5T3qS3


21. The value of  is: (A)  (B)  (C)  (D) 

A. 

B. 

C. 

D. 

Watch Video Solution

∫
−

dx

π

2

π

2

sin2 x

1 + 2x
π

π

2
4π

π

4

π

8

π

2

4π

π

4

22. Let f and g be continuous fuctions on [0, a] such that

is equal to

A. 

f(x) = f(a − x)  and g(x) + g(a − x) = 4  then 

a

∫

0

f(x)g(x)dx

∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_ocCwIH5T3qS3
https://dl.doubtnut.com/l/_YAKfeV9KdtTk
https://dl.doubtnut.com/l/_DihLkOmvptm1


B. 

C. 

D. 

Watch Video Solution

4∫
a

0
f(x)dx

−3∫
a

0
f(x)dx

2∫
a

0
f(x)dx

23. The integral  is equal to (where C is constant of

integration):

A. 

B. 

C. 

D. 

Watch Video Solution

∫cos(loge x)dx

x[cos(loge x) − sin(loge x)] + c

[cos(loge x) + sin(loge x)] + c
x

2

[sin(loge x) + cos(loge x)] + c
x

2

x[cos(loge x) + sin(loge x)] + C

https://dl.doubtnut.com/l/_DihLkOmvptm1
https://dl.doubtnut.com/l/_bGsvFY3AqClw


24. The integral  is equal to (here C is a

constant of integration)

A. 

B. 

C. 

D. 

Watch Video Solution

∫sec2 / 3 x cosec4 / 3x dx

3 tan1 / 3 x + c

−3 cot1 / 3 x + c

−3 tan1 / 3 x + c

cot1 / 3 x + c
3

4

https://dl.doubtnut.com/l/_BYWupyCnMtNN

